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�
 #� 102�034,5 , 3262�21,5 �71�,3�89 62�0: � � � #%
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�!����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � #;
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��� �
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 ����� �
��������  ��� � � � � � � � � .>
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 ����� �
��������  ��� � � � � � � � � � � � � � � � � � <"

1�
�
 .� �2�0�@ �71�,3�212 62�5 �2 ��A340��0:

10�,2�B040 � ACD32� �847��,�7�,547�,7�@�2:

�7645ED��2�3, � F242�0 �2��G7 � � � � � � � � � � � � <.
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 � � � � � <.
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.�/ K��
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����� 	� ��� � � � � � � � � � � � � � � � � � � � � � $>

.�> F�
	�� �����
 �
������� � � � � � � � � � � � � � � � � � � � � $;
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1�
�
 <� �A�0�80 32CF, �71�,3�212 62�5 � � � � � � � � � � ?;
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� ����
 � � � � � � � � � � � � � � %$

<�$�. D����� � � � � � � � � � � � � � � � � � � � � � � � � � � � %%
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� ���
�
� ����
 � � � � � � � � � � � � � � %;
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� ��)!�
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����
 � � � � � � � � � � � � � � � � � � � � ;.
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 � � � � � � � ;$

<�?�. ���
�
� ����
 L %�J M ���H� 
��N � � � � � � � � � � � ;/
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� � � � � � � � � � � � � � � � � � � � � � � � � � � � � #"?

<�?�? ���� .���  ���	�
 ��=
�� ��	
 � � � � � � � � � � � � � #">

<�/ O�����
��� ���
��! ���
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��������  ��� #";
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��
 ����� � � � � � � � � � � � � � � � � � � � #";

<�/�. O�����
��� ���
��� ����� � ��������
���

�� ������
����� �����
�
 � � � � � � � � � � � � � � � � � ##.

<�> P
��J�
��
 � 1�
�
 < � � � � � � � � � � � � � � � � � � � � � � � ##?

1�
�
 $� 47�CD38 �71�,3�212 62�5 , 102�034,, 012

�,�,: �O�,P, �0F232489 32F2�89 �,�30� � � � � � ##>
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 ��� ������  �����! ������! ����
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�� � � � #."

$�.�# 2 ��
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�� � � � � � � � � � � � � � � � � � � � � � #."
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$�.�< 6�	����
�� �
������! ����� � � � � � � � � � � � � � � #.$

$�.�$ �
������
 M������
N � � � � � � � � � � � � � � � � � � � #.>

$�.�? 6
�� 
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�
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�����
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�
��������  ��� � ����
���� �����
 � � � � � � � � � � #.%
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�
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�".N QRST�".U � � � � � � � � � � � � � � � � � � � � #<>

$�<�# 2 ��
��
 RST�". � � � � � � � � � � � � � � � � � � � � � #<>
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P7F�WC0�,0 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #$/

�,30473A47 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #$%

6����I
��
 7� ,� ������
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 �
������
���! ��V�����
����
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���� ���
��
����� ��� A������
 QXTYU � � � � � � � � � � � #/.
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 O� � ����  �������� �  ����
	��)���! �������

�
I
�	�
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #/?

O�# 6������� �
I
�	�
 ���H�!  ���	��� � � � � � � � � � � � � � #/?

O�. 6����
	��)���
 ������� �
I
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 ���H�!  ���	��� � � � � #//
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	 ��
�
����+ ��� ���
��
 ����� �
��������

 ��� ����J��� ����
�� �
�
�
 ��� �����
��� �����  ����
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���
J��� �
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�!�����+ �
���

��


�
��������+ �
�
���
���� �
  �
	
����� ���� � �� 	� i#%j� � �
���
! i>"j-

i><j � 
���
 ����  ��
�
��+ ���  �� �
������! �������! �
������


 ��
�!�����  
�
��
J� ��=
�����
��� 6
����
�
����� �
��J 
������

�������� ����
��
 �
��������  ��� � ��
��
�
���
!� 6���
	��


 �
	��
���J� ����� ��
�� �����	
����! �
������! ����
�+ � ������!

�
������
  ��
�!����� ���	
J��� �
 �����+ �����I	

��� �	���

 �
��
����� H���
+ �
� V�� 	
�

��� � ���
�
�
+ 
 ��
H��� �
�������

 ��
�+ ��
J=�� �������J ��������� i>$j� � ��
����
���� ��
��
�
���
 �

���	
��� �
��������  ��� ��
����J� ����+ �
��=�
 � n  
�
! �������!

 ����	�����+ �
���
���! �
  ��
�!����� ���
+  ���)� � ���
	��!

 ����	���
! ��� �
�
�  � �
�����
 �  ������ ���I
�  � ��
��� C����

n �
���

��� ����������	� �
�����
� ����H�
 �
���� ��
��
�
���


 �
	��
���
� ����� �
������
  ��
 �������� ����
����+ ��)�����
 � ����

� �����	���
���� ����
�
 ����	��
� {ρ, ϕ, z}  ��
 � ��������

����
���
� 1 = 1(ρ, ϕ − γz) ��I��  �
	��
���� �
�
� ��
������

 ��
���
� i>?j

U0 = B0z +
1

γ

∞∑
n=1

bnIn(nγρ) sin [n(ϕ− γz)] , Q#�/U

�	
 B0 & �
 ��I)������ M ��	�������N �
��������  ���v bm & 
� ����	�

���������  ���v γ = 2π
L + �	
 L & H
� �������+ ���	
J=
�  ��
+ Im(x) &

������� ,��
��	
 Q������� O
��
�� ������� 
����
��
U* Im(x) =

= i−mJm(ix) i>/j� 6������	�
� ������� ,��
��	
 �������
���  � ������


I ′n(x) = 1
2 [In−1(x) + In+1(x)]�

6
�
�
��
��+ � �
	
��J=��� !�	 ����� �
��������  ���+ ����J���

����H
��� bi
B0

Qi = 1, 2, . . . U+ L Q��� γU � ����
 ��
��
� 6�� �������+ ���

 ��	�����
  ��
 B0 �
����  � ��
��
��J �  � 
�
����+ ��I��  �������+

��� ����� �
��������  ��� ��	
����� �
�������  �
	��
���
� �����

.#



� ��
�� � H
��� λ = L
n V��� ���
����� �
�
��� i>?j� 2�� V��� � ��
��

� ���J ��
�
	� ����
��� �������� ����
�+ �
����� �
 �������� �����	�

Q���� #�#U�

4��� #�#� ������
� ����� � ����

 b3 = 0.1B0+ n = 3+ L = 1� �
���� �����

��
��
 � 	
�
�����! ����	��
�
!* r0 = [0.15, 0, 0]�

6�� V��� ������
J� �
������
  ��
�!����� 	��! �� ��*

#� ���I
���
 	��� � 	���
 �����
��
  ��
�!�����v

.� �
 �!�
���
J=�
 ��� ����
�� � �
� �
	
�)��� 	
�
�� �� �
)

�	
��J=�
���

����
��� � �
	
�
��J+ �
������
�� &  ��
�!�����+ �
�	
��J=
�

 ��
�!����� Q��� �����  ���U+ ������
 �
����  
�
�
��� 	��� � 	���
 �
�

�
����
 ���������  ��
�!����
� i#j� �
 
�
����
+ �
�	
��J=
� ��
�
���


��H
 ���  �  ��
�!����
�+  �
	��
���
� ����� ��
�������J  ��
�!�����+

�)��
 ������� ����J��� ��������� ������� ϕ = γz�

� �
���
 i>"j  �� ����
���� �
��)�
 �
������!  ��
�!����
� 	���


H
�
 L ���
 ����
 �
���� 2π+ 
 �
 ��I)������  ��	�������  ��� B0

 �����
 �
���� 
	����
� F �
�� 	��
�������  ��
 b3 = 3� ��� � �
	
�
���

����� �
�������  ��
�!����� 
����
�� �
�������
�
�� �	�
 �����  ���

�
 ���
��
�
 0 ≤ z ≤ NL+ �	
 N 	���
����� �
����+ � �
�
� ��
 ���
���

V��� �����+ �
I
=�
 � ���
��
�
! (k − 1) ≤ z ≤ kL+ k = 1, . . . , N +

..



�	���
���� � �
 �
��
��� ��� Oz � ���
��
� 0 ≤ z ≤ L� �
�

 ���������

�
�
��
 �
�������  ��
�!�����  ��������J � �
	
���� ��
�
��
� z�

�
�

 1
���
�	�� � 	�� i>"j ��
���
�� �
	
�
 �������� !
�
��
�

������� ��������
���  ���+ �� 
� �
��I
��� �����=
��� ��	
*

ũ =
b0
γ
I0(kγρ) sin kγz Q#�>U

 �� �
���! b0 � k� 6�� V��� ����
����  ��
���
�*

UΣ = B0z +
b3
γ
I3(3γρ) sin[3(ϕ− γz)] +

b0
γ
I0(kγρ) sin kγz. Q#�%U

F�� ��
��� ����
�����  ���*⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

Bρ = 3b3I
′
3(3γρ) sin[3(ϕ− γz)] + kb0I1(kγρ) sin kγz,

Bϕ = 3b3
γρ I3(3γρ) cos[3(ϕ− γz)],

Bz = B0 − 3b3I3(3γρ) cos[3(ϕ− γz)] + kb0I0(kγρ) cos kγz,

Q#�;U

�	
 ���
��+ ��� I ′0(x) = I1(x) i>/j� F
� � �  �
	�	�=�! �
��)�
!+ ��
����

L = 2π Q�� 
�+ γ = 1U+ B0 = 1+ b3 = 3� 4
��)�  ����	���� 	�� k = 1 � k = 3

 �� �
������! ��
�
���! b0�

B���
 �
������!  ��
�!����
�  �� �
��I
��� �����=
���

	
��������
�
��� � �
������! ����
�! ������
�
 
=) �	�
 �
 
�
����
+

� ����
 ����������
+ �
I
=
� ������  �
I�
�� �  ���
��
 ����
�����

��)�
 ����  ����
�� 	
���
+ ��
���
J=�
 �
 ���
��
 �
���H
���

�
������!  ��
�!����
�� 2  ��
	
��� ����� �
��������  ��� ��I�� ����

��	���  � ���I
���� ���
� (ρ(zn), ϕ(zn))  �� zn = n2π
3 + n = 0, 1, 2, . . .

3
��
 �����
I
��� �
���
J��� �
�
�
��
 �������
� O��� ���
��I
��+

���  �� ����H�! �����=
���! �
������
  ��
�!����� ���
�
J�+ � V��

�����
I
J=�
 ����� ��I
��� �
 ��
	��
 �
�
������
 �����
+ ��
J=�J

����� ����
 � ��
���

3
�+ ���  ���
	
� �
��)� 	�� ������+ ��H
	H
� �� ����� �

�����	���
����� ����	��
�
�� ρ = 0.01+ ϕ = 0 QV�
 ����
 �
!�	����

.<



������ �	���� �� �
 
�����U� ?<�� ����
  
�
�
�
���+ ����� ��
��H
���

������ ��� Ox+ ��

� ����	��
�� ρ = 0.013061+ ϕ = 0.028237 Q���� #�.U�

7����� �
��J�
J�+ ��� ����
�+  ���
	)��
� �
�
� �����
I
J=�
 �����

����
��� ���������+ �� 
� ��
 �
  ���
	�
I�� �
�������� �
�������

 ��
�!������

4��� #�.� 1�������
���
  ��
+ b0 = 0.125+ k = 3� �
�
��
 6�
��
�
 ������+

��H
	H
� �� ����� � ����	��
�
�� ρ = 0.01+ ϕ = 0�

�
����

 ��������
����� � �����=
���� ����
��� �
 
�
����
� �

���
 
) �
���H
��� ����	��
��  
�
�
�
��� �����  ��� � �����
I
J=
�

 ��������J ����� �
� �� ����
���� !
�
��
� i#ji�� ??j� K�� ���
��


�
���

��� M	��
���
���� !
����N� ����� �
��������  ��� �I
 �


��I
����  �� V��� �
 �
������
  ��
�!�����+ 
 ����� V���	��
���

�
 ������ �
������� ���)��

���� �� �� � ���
	�� �����
�
��	�� ���	�
	��� ����

�� ��� � �����I��� !
�
��
�
  ��
	
��� ����� �
��������  ���

����
� � �� ����� � �
����
����  ������  �
	��
��
��� �
��������  ���+
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�	���
�����J=
� ������J lb~1 = 0+ ��� ���� �
������
��+ � �
�������+ �

����
 �� ,���������
 i./j� ���
�
� �
 �
��
��
 ���
�
���  �����������+

����=
 ������+ ��������
���� ����	��
�� ν �	��� �
 �
��
��� �
��������

 ��
���
�
 3 �  �
	��
���  ���
	��� � ��	
*

3 = µ∇ν, Q#�#"U

�	
 µ & �
�����
� ��
����
� �
�����
� 3��	
 �
������
  ��
 �
 �H
��� �

��	


1 = [∇µ,∇ν]. Q#�##U

��
�����
 ������� µ � ν �
���
J�  ��
���
�
�� F�
�H
�

6�
	��
��
��
 Q#�##U+ � �
�
	����
 ���
���� 	�� �J���� �
�����

 ��
���
�
+ ��I
�+ �	�
��+ �
 ��
�� �
��
 �� ��)�  �����
����


	�� �
��������  ���  ����������� �� ������� � �
��� 	
�
+  ����

 �
	��
��
��
 Q#�##U � �
�
	���� � ���
������� �
������� ����� �

�
	�����
������ 40� 3��	
+  �������� (1 · ∇µ) = (1 · ∇ν) = 0+ �����

�
��������  ���+  ��!�	�=
� �
�
� ����� 40+ �
I�� �
  ��
�!�����!

µ(4) = const = µ(40)+ ν(4) = const = ν(40)+ �� 
� ���I��  
�
�
�
��
� V��!

 ��
�!����
�� 3
��
  
�
�
�
��
 ��I
� �������� ���� �
������� ����
�+

���� ����
�+ ����� ������� �
I
� �
 �
����
������� K�� ���
�

�+ ���

 �
	��
��
��
 Q#�##U �
 ����	�� 	�� � ��
��� �
������!  ��
�+ �����

������!  �����
J� �
��
  ��
�!����� ��� V���	��
��� �
 ����J� ���)��

��I��+ �	�
��+  �����
��� �
�
�
���
���
 ����=
��
 Q#�##U �


 ��� �J��� �� ������ i./j� ��
	)� ���
	� ����	��
�+ ����=
 ������+

��������
���!+ {αi}+ i = 1, 2, 3+ � ����
���� � �
J �
���+ ���
���
����


	�������� �
����
��*

51 =
[∇α2,∇α3]

J
, 52 =

[∇α3,∇α1]

J
, 53 =

[∇α1,∇α2]

J
, Q#�#.U

.?



�	
 J = (∇α1 · [∇α2,∇α3]) & �����
�� �
��
� ���
	
 �
����I	
�
  ��

J �= 0� 4
���I�� �
���� 1  � V���� �
���� � ��	


1 =
3∑
i=1

AiJ5i = A1[∇α2,∇α3] + A2[∇α3,∇α1] + A3[∇α1,∇α2], Q#�#<U

��I��  �������+ ��� ��V�����
��� Ai �
� ������� ����	��
� {αi}+ i =

= 1, 2, 3 ��
� 
���
J� �
�	��
��
������� ���	
 � ������ ���	
+ ���	


3∑
i=1

∂Ai

∂αi
=
∂A1

∂α1 +
∂A2

∂α2 +
∂A3

∂α3 = 0. Q#�#$U

F�V�����
��� Ai � �����
�����J=�
 �� ��� ��
�� �
��������  ���

�
	
�� �  �����
����
 �	����
���� 6�
	��
��
��
 Q#�#<U  ������
�

�
���	��  �����J�������
�� �����I��
 �
������ � �� ������ �
��������

 ����

6���� � �
���I
��� Q#�#<U ������
 �� ���� ������ �	�
 �� ��� ��
��*

A1 = 0+ A2 = 0+ A3 �= 0� � ��)��� Q#�#$U+

1 = A3(α1, α2)[∇α1,∇α2]. Q#�#?U

� �
�
���
 µ � ν ��I�� ����
��+ �
 ���
�+

µ = α1, ν =

α2∫
A3(α1, α̃2) dα̃2. Q#�#/U

3��	
  �
	��
��
��
 Q#�#?U V����
�
����  �
	��
��
��J Q#�##U � � ����

�

�����  ���+ �
I
=�
 �
  
�
�
�
���  ��
�!����
� µ = const+ ν = const�

6�� V��� �����  ��� ���� �
������+ ����  ��!�	�� �� �
����
������ �

�!�	�� �
 �
����
�������

6���� � �
���I
��� Q#�#<U ������� �� ���� 	�
 ��� ��
���* A1 = 0+

A2 �= 0+ A3 �= 0+ � �
������
  ��
 �
 ����

��� � ��	


1 = A2[∇α3,∇α1] + A3[∇α1,∇α2]. Q#�#>U

A���I
� Q#�#>U ��
����� �
 ∇α1+  ������

(1 · ∇α1) = 0, Q#�#%U

./



�� 
� �����  ��� �
I�� �
  ��
�!����� α1 = const�

��� �
����

  �����! ����

� ���
���� 
�
�����
���
 ���
I
���

	�� �
������!  ��
�!����
� i>>j� 6�� ��
����
������� ��������
���

Q���������� �
��������� �� ���
 ϕ �����	���
���� ����
�� ����	��
�U

�
������
  ��
�!����� �
	
J��� �
�
� �
����� ��
���
� ���
I
��
�

Ψ(ρ, z) = ρAϕ(ρ, z), Q#�#;U

� ����

 ��
����������� ����
���� �	��� ��� Oz & ���
I
��
�

Ψ(ρ, ϕ) = Az(ρ, ϕ), Q#�."U


 � ����

 �������� ����
����+  �� ������� Ψ ����
��� ������
� r � ϕ−
− γz+ ��
��
��
�

Ψ(ρ, ϕ− γz) = Az(ρ, ϕ− γz) + γρAϕ(ρ, ϕ− γz), Q#�.#U

�	
 γ !
�
��
����
� H
� ����
�

� �
����

 ��=
� ����

 �  �
	��
��
��� Q#�#<U �� ���� ������� ��


��� ��V�����
��
* A1 �= 0+ A2 �= 0+ A3 �= 0� ����� �
���� �
��������

 ��� ��I
� V���	��
���  ����� �
 ������  �����
����
���� ���)�� 3
���

���
���+ �
����

 ��=�� ����
��� �
������
  ��
+ ����� �������� �


�
������ � �
 ��I
��� �
 �
��
�����  ��
�!�����* �
���I
��
  � ��)�

�
�
������� �
����
� & ��=�� ����
�+ ���	
 �
�  � 	��� ��� �	���� &

����I	
����� 6�� V��� ����������� �� �
������! ����� �
��������  ���

�
����

 �� ������
��� �
��������
  � ����H
��J � �
��� �����=
�����

��!� "����#
�	�
� �����	�� ��	�� ���	�
	��� ����

A�
��
��
 ����� �
��������  ��� � ��������
���! ����	��
�
!

{α1+α2+α3} ��

� ��	*

dα1

1 · ∇α1 =
dα2

1 · ∇α2 =
dα3

1 · ∇α3 . Q#�..U

.>



����� � �
�
���
 ����	��
�� α1 �
�������  ��
�!����� Q��� Q#�#%UU

����
=

� �����
���� ��
��
��� �
 
	������ � ���� M�
	�
�����N

����	��
�� α1+ ���
�
J=
� �
�������  ��
�!������+ ��I
� ����� 
��

�J�
� �
�����
 Q�
��
U+ M �����
��
�N � V���  ��
�!������� � �
�
���


�
��� ����� ����� 
�� �����	
����� Φ ���  ����	
����� Ψ �
�������

 ����v ���)� V + �
��J�)���� ������ �
�������  ��
�!�����v �
�������


�� �
������� ��� 	� �
�������  ��
�!����� � �
�������� �
�
��� �

�
 �
��
��� � ��  �

�
�������  ��
���
� �
��������  ���+ �
� � �J��� �
����+ ��I��

�
���I��� � 	
���� ��������
���� �
���
*

2π3 = A1 ∇α1 + A2 ∇α2 + A3 ∇α3 Q#�.<U

Q ������ ���	��� ���I��
�� 2πU� 2����
��� α2 ≡ θ+ α3 ≡ ζ� ��
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ψ = A3 − ∂ν
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2π3 = φ∇θ + ψ∇ζ + ∇ν, Q#�.?U
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dθ

dζ
=
1 · ∇θ
1 · ∇ζ = −

(∂ψ(φ, θ, ζ)

∂φ

)
θ,ζ=const

,

dφ

dζ
=
1 · ∇φ
1 · ∇ζ =

(∂ψ(φ, θ, ζ)

∂θ

)
φ,ζ=const

.
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�!�����J ��������
 r = Rs� ��
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��J

� �
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�� ������ M�
�
���JN  ������� H
������ ����
(
θ ≤ π

2

)
+

	�� �����
�
��� ������� � 	
���
�H
� ��	
� �� ������
�� ������J �����

hh� �
���
�+ ���
���+  �
	��
���J=�J ����� ��
H�JJ  � ����H
��J �

 �����
�
 r = RL+ θ ≤ π
2 �
���  ��� �����
����
+ ��	
� �����
�
�� ������

hhh Q��� �!
�� �
 ���� .�<U�
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 �����
� ��+��

,�
��,���� � ��
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��J	
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�
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*

Br(R�, θ, ϕ) = F (θ, ϕ). Q.�<U
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F (θ, ϕ) =
∞∑
n=0

n∑
m=0

P (m)
n (cos θ)[gnm cosmϕ+ hnm sinmϕ]. Q.�$U
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��� h Q���� .�$U ��

� ��	*⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

∆UI = 0, R� < r < Rs,

∂UI
∂r

∣∣
r=R�

=
∞∑
n=1

n∑
m=0

P
(m)
n (cos θ)[gnm cosmϕ+ hnm sinmϕ],

UI |r=Rs = 0,

Q.�?U
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�
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�

∆ ≡ 1

r2

∂

∂r

(
r2 ∂

∂r

)
+

1

r2

(
1

sin θ

∂

∂θ

(
sin θ

∂

∂θ

)
+

1

sin2 θ

∂2

∂ϕ2

)
. Q.�/U
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 ����J��� H
����
 ������� rnY
(m)
n (θ, ϕ) � 1

rn+1Y
(m)
n (θ, ϕ)+ �	
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���
���
 �������

Y (m)
n (θ, ϕ) = P (m)

n (cos θ)

⎧⎪⎨
⎪⎩

cosmϕ,

sinmϕ,
Q.�>U

P
(m)
n (cos θ) &  ����
	��)���
 ������� �
I
�	�
 i>/+ ;?j+ ��
	�
� �����

������!

∥∥∥P (m)
n (cos θ)

∥∥∥2

[0,π]
=

π∫
0

(
P (m)
n (cos θ)

)2
sin θ dθ =

2

2n+ 1

(n+m)!

(n−m)!
. Q.�%U
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�� � ��
	�J=
� ��	
*

UI =
∞∑
n=1

νn(r)
n∑

m=0

P (m)
n (cos θ)[gnm cosmϕ+ hnm sinmϕ], Q.�;U

�	
 �
� νn(r) �����
�
�� ��=�
 	�� �
������ �	��� ������ ��������

���I��
��*

νn(r) = R�

(
R�
Rs

)n+1 (
r
Rs

)n
−
(
R�
r

)n+1

n+ 1 + n
(
R�
Rs

)2n+1 , Q.�#"U

 �� V��� νn(Rs) = 0�

P�
�  ��
���
�+ �
!�	�� � ���
��� h ��� ��
��� �
����
  ���*⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

Br =
∞∑
n=1

ν ′n(r)
n∑

m=0
P

(m)
n (cos θ)[gnm cosmϕ+ hnm sinmϕ],

Bθ =
∞∑
n=1

νn(r)
r

n∑
m=0

dP
(m)
n (cos θ)
dθ [gnm cosmϕ+ hnm sinmϕ],

Bϕ = −
∞∑
n=1

νn(r)
r

n∑
m=1

mP
(m)
n (cos θ)

sin θ [gnm sinmϕ− hnm cosmϕ],

Q.�##U

�	


ν ′n(r) =
(n+ 1)

(
R�
r

)n+2
+ n
(
R�
Rs

)n+2 (
r
Rs

)n−1

n+ 1 + n
(
R�
Rs

)2n+1 , Q.�#.U

�
� ��� ν ′n(R�) = 1�

2��J	
 ��I��  ������� ���
I
��
 	�� �
����
 �
��������  ���

�
  ��
�!����� r = Rs+ �
 ������� �� ��
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���J=�J+ 	
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 ������
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���
����

 ��
�!�����  ������� H
������ ����+  �
	��
���J=
� ����� ���
��� hh*

f(θ, ϕ) = Br(Rs, θ, ϕ) =
∞∑
n=1

Vn

n∑
m=0

P (m)
n (cos θ)[gnm cosmϕ+ hnm sinmϕ],

Q.�#<U
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Vn ≡ ν ′n(Rs) =
(2n+ 1)

(
R�
Rs

)n+2

n+ 1 + n
(
R�
Rs

)2n+1 . Q.�#$U
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�
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��� hh  �����
�

� ��
	�J=�� ��	*⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎩

∆U = 0, Rs < r < RL, θ < π
2 ,

∂U
∂r

∣∣
r=Rs

= f(θ, ϕ),

∂U
∂r

∣∣
r=RL

≡ const,

∂U
∂θ

∣∣
θ=π

2

= 0,

Q.�#?U
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 	�� ��� 
������� �
 ��� �����
�
�� U ≡ UII �

P�
�
��
 �!�	�=
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�!����� r = RL+ θ ≤ π
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�
�
� �����
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Φ = R2
s

2π∫
0

dϕ

π
2∫

0

f(θ, ϕ) sin θ dθ, Q.�#/U

� ∂U
∂r |r=RL = Φ

S + �	
 S = 2πR2
L &  ��=
	� ��
H�
�  �����
���
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J� ��
	�J=�� ���������

�)������*

P (m)
n (x) = (−1)n−mP (m)

n (−x), Q.�#>U

� �
�������+ 	��  �������� �
I
�	�
 �
��� �
�
����� Pn(x) =

= (−1)nPn(−x)� 1�
������� ������J  �� θ = π
2 ��	�� �	���
�������

�)���
  ����
	��)���
 ������� �
I
�	�
+ �� 
� �
+ 	�� ������! �
������

n −m & �)���
 �����+ �� �� dP
(m)
n (cos θ)
dθ = −

(
P

(m)
n (cos θ)

)′
sin θ+  ������	�
�

�)���� ������� ����
��� �
�)���� � �
������+ � �
�)���
 ������� � ���
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��
 [0, 1] ��	�� �������
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	�
� �����
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	��)���! ������� �
I
�	�
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��
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�
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H
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�
 � ���
��� hh  �
	��
���� � ��
	�J=
�

��	
*

U =
A0

r
+

∞∑
k=1

w2k(r)
k∑
l=0

P
(2l)
2k (cos θ) {Akl cos 2lϕ+Bkl sin 2lϕ}+

+
∞∑
k=1

w2k−1(r)
k∑
l=1

P
(2l−1)
2k−1 (cos θ) {Ckl cos[(2l − 1)ϕ] +Dkl sin[(2l − 1)ϕ]}+

+ const, Q.�#%U

�	
 ��=�
 	�� �
������ �	��� ������ �������� ���I��
��

w2k(r) = − R2k+2
s

R4k+1
L −R4k+1

s

(2k + 1)r4k+1 + 2kR4k+1
L

2k(2k + 1)r2k+1 , Q.�#;U

w2k−1(r) = − R2k+1
s

R4k−1
L −R4k−1

s

2kr4k−1 + (2k − 1)R4k−1
L

2k(2k − 1)r2k . Q.�."U
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F�V�����
�� A0  
�
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���J=
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�
��������  ��� �
�
�  �����
���
���
  ��
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A0 = −R
2
s

2π

2π∫
0

dϕ

π
2∫

0

f(θ, ϕ) sin θ dθ. Q.�.#U
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Br = −A0

r2 +
∞∑
k=1

w′
2k(r)

k∑
l=0

P
(2l)
2k (cos θ) {Akl cos 2lϕ+Bkl sin 2lϕ}+

+
∞∑
k=1

w′
2k−1(r)

k∑
l=1

P
(2l−1)
2k−1 (cos θ)×

× {Ckl cos[(2l − 1)ϕ] +Dkl sin[(2l − 1)ϕ]} , Q.�..U

Bθ =
∞∑
k=1

w2k(r)

r

k∑
l=0

dP
(2l)
2k (cos θ)

dθ
{Akl cos 2lϕ+Bkl sin 2lϕ}+

+
∞∑
k=1

w2k−1(r)

r

k∑
l=1

dP
(2l−1)
2k−1 (cos θ)

dθ
×

× {Ckl cos[(2l − 1)ϕ] +Dkl sin[(2l − 1)ϕ]} , Q.�.<U

Bϕ = −
∞∑
k=1

w2k(r)

r

k∑
l=1

2l
P

(2l)
2k (cos θ)

sin θ
{Akl sin 2lϕ−Bkl cos 2lϕ}−

−
∞∑
k=1

w2k−1(r)

r

k∑
l=1

(2l − 1)
P

(2l−1)
2k−1 (cos θ)

sin θ
×

× {Ckl sin[(2l − 1)ϕ] −Dkl cos[(2l − 1)ϕ]} , Q.�.$U

�	


w′
2k(r) =

R2k+2
s

R4k+1
L −R4k+1

s

R4k+1
L − r4k+1

r2k+2 , Q.�.?U

w′
2k−1(r) =

R2k+1
s

R4k−1
L −R4k−1

s

R4k−1
L − r4k−1

r2k+1 . Q.�./U
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�
! �� ����J��� �
�
����
 w′
2k(Rs) = w′

2k−1(Rs) =

= 1+ w′
2k(RL) = w′

2k−1(RL) = 0�

$<
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Br|r=R� = cos θ, Q.�.>U

�
��������� �� ���
 ϕ ���������
� � ��J	� Bϕ ≡ 0� 6��
���
� 
���
������

	� ��� � ���
��� h QR� < r < RsU*

UI = R�

(
R�
Rs

)2
r
Rs

−
(
R�
r

)2

2 +
(
R�
Rs

)3 cos θ. Q.�.%U

�
���
��
 ��� ��
��� �
����
 �
��������  ��� � V��� ���
���*

Br =
2
(
R�
r

)3
+
(
R�
Rs

)3

2 +
(
R�
Rs

)3 cos θ, Q.�.;U

Bθ =

(
R�
r

)3
−
(
R�
Rs

)3

2 +
(
R�
Rs

)3 sin θ. Q.�<"U

6��
 �
  ��
�!����� ��������
*

Br|r=Rs =
3
(
R�
Rs

)3

2 +
(
R�
Rs

)3 cos θ ≡ V1 cos θ, Q.�<#U

�	
 �����
�
��

V1 ≡ ν ′1(Rs) =
3R3

�
2R3

s +R3�
. Q.�<.U

2��J	
 �������
��� �
	�
���
� ����
���J=
� �
��������  ��� �


 �����
�
 r = RL+ θ < π
2 *

Br|r=RL =
R2
s

2R2
L

V1. Q.�<<U

Q�����
����
��� �
  �����
�
 r = RL+ θ > π
2 ��	
� �� ���
�� �
�
�����

Br|r=RL = − R2
s

2R2
L
V1U�

$$
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A0 �
!�	��+ ���

A0 = −R
2
sV1

2
. Q.�<$U
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��������

 ��� Q.�..U ��
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�!����� ��������
 	��I�� �� ��������

�
�
�����*

V1

2
+

∞∑
k=1

k∑
l=0

P
(2l)
2k (cos θ) {Akl cos 2lϕ+Bkl sin 2lϕ}+

+
∞∑
k=1

k∑
l=1

P
(2l−1)
2k−1 (cos θ) {Ckl cos[(2l − 1)ϕ] +Dkl sin[(2l − 1)ϕ]} =

= V1 cos θ. Q.�<?U

6���
	��
�
���� ����I
� 	
���
 ���
I
��
 �
 cosmϕ � sinmϕ+ �	
 m =

= 2l � m = 2l − 1+ � ���
������  � ���� ϕ �� ���� 	� 2π+ �
�	)�+ ��� ��


�!�	�=�
 � 	�����
 ����� ��V�����
��� �
 ����J�
��
� Ak0+ ������
 �

	
���
�H
� ��	
� �����
�
��  ����� �
� Ak Qk = 1, 2, . . . U+ ���
=
J��� �

����� 4
�
����� Q.�<?U  �����

� ��	*

V1

2
+

∞∑
k=1

AkP2k(cos θ) = V1 cos θ. Q.�</U

�
�	)� �
 
�� ��V�����
��� Ak  ��)�  ���
	��
�
������ 	����I
���

��
�! �
��
�  ����
����� ��
��
��� �
  ������� �
I
�	�
 �)�����

 ���	�
 �  ���
	�J=
�� ���
������
���*

V1

2
+

∞∑
j=1

AjP2j(cos θ) = V1 cos θ |×P2k(cos θ) ,

π
2∫

0

sin θ dθ. Q.�<>U

6������+ ���

Ak =
V1

‖P2k(cos θ)‖2
[0,π2 ]

π
2∫

0

P2k(cos θ) cos θ sin θ dθ, Q.�<%U

$?



�	
 ��	
�� [0, π2 ] ��
���

�+ ��� ����
 �
�������

��� �
 �����
�����J=
�

���
��
�
� �
�
� �
�
�� x = cos θ � ������
�+ ��� ��
	�
� �����

‖Pn(x)‖2
[0,1] = 1

2n+1 +  ������*

Ak = (4k + 1)V1

1∫
0

xP2k(x) dx, k = 1, 2, . . . Q.�<;U

Q��� �
��� .�#U� ��� ������
��� �!�	�=
�� � ���
I
��
 ���
��
�
 ��I��

��� ������
���� ��������

I2k =

1∫
0

xP2k(x) dx =
k∑
i=0

a2i

2i+ 2
, Q.�$"U

�	
 a2i & �����
 � ��)��� ��
�
 ��V�����
���  �� ��
 
��!  ������


�
I
�	�
 2k���  ���	�
+ P2k(x) =
k∑
i=0

a2ix
2i�

� ����
  ����

� ��
	�J=

 ���
I
��
 	��  ��
���
�
 
���
������

	� ��� � ���
��� hh*

U =
A0

r
−

∞∑
k=1

AkP2k(cos θ)
R2k+2
s

R4k+1
L −R4k+1

s

(2k + 1)r4k+1 + 2kR4k+1
L

2k(2k + 1)r2k+1 + const,

Q.�$#U

�	
 ��V�����
��� �
���I
��� Aj Qj = 0, 1, 2, . . . U � �
	
��J���  �

������
� Q.�<$U � Q.�<;U� �!�	�=�
 � �����  ������� �
I
�	�
 ��I��

����� �� � 
��
����! �
���� ��� �
���+ ��� ������
�H��� �
����
�����

������H
��
� i>/+;?j

Pn+1(x) =
2n+ 1

n+ 1
xPn(x) − n

n+ 1
Pn−1(x). Q.�$.U

6������� �  ����
	��)���
 ������� �
I
�	�
 ���H�!  ���	���

 ���
	
�� �����
����
��� � 6����I
���! O�# � O�.�

2������
 �� ���� ��� ��
��� �
����
 �
��������  ��� 
���
������

	� ��� � ���
��� hh*⎧⎪⎪⎨
⎪⎪⎩
Br = −A0

r2 +
∞∑
k=1

AkP2k(cos θ) R2k+2
s

R4k+1
L −R4k+1

s

R4k+1
L −r4k+1

r2k+2 ,

Bθ = −
∞∑
k=1

Ak
dP2k(cos θ)

dθ
R2k+2
s

R4k+1
L −R4k+1

s

(2k+1)r4k+1+2kR4k+1
L

2k(2k+1)r2k+2 .
Q.�$<U

$/
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��  ��
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� � �
����  ��� � ���
��� hhh� ��
H���

��

�
� �
	
�
+ ��	
�I
=
� ��
�	
����
 ��
���
��
 �
����
�����

���
��
���  ��
���
�
 � ���J �
 �
����
������ i>/+;?j+ ��

� ��	*⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎩

∆UIII = 0, r > RL, θ < π
2 ,

∂UIII
∂r

∣∣
r=RL

= R2
s

2R2
L
V1 ≡ const,

UIII → 0, r → ∞,

∂UIII
∂θ

∣∣
θ=π

2

= 0.

Q.�$$U

F
� ���
����+ ��
H��� ��

�
� �
	
�
 �
��
�
 ��

� 
	�����
���


�
H
��
 i>/+ ;?j� F
� ��I�� ��	
��+ ��
��
��J �
 �
�
 � �
	
����

��
������ �������� �	���
�����
�  ��
���
�+ � �
	
��
��� ��������

UIII = −R
2
sV1

2

1

r
. Q.�$?U

6��
 � ���
��� hhh ����
��� ����� �
	�
����� � �
 �
����=�� �� �����*

Br =
R2
sV1

2

1

r2 , Bθ = Bϕ = 0. Q.�$/U

� ���
���+ ����
������� ���
��� hhh �������
����  �������� θ = π
2 +

�
	�
���
� ��� ��
��
  ��� ��

�  ������ ���I��� ��
��

�  ��
 � ���
��� hhh Q���� .�/U ����� ������� ���
	 ������ �
�������

� �
�)���� n � m = 0+ 	�� ���
����! �
������  ���� Φ+ �
�������

���

 � ������
 Q.�#/U+ ���
=

��� � ����� � �
�������+ 	�� �)���! n � m = 0

�
�
�����  ����
 ���J ����	���� �� �������
 �������
������� �
 ���
��


[0, 1]  �������� �
I
�	�
 �	��� �)������ � ����+ ��� P0(x) = 1�

��.� /�
�
�����#	�� �����#

6��
 �
������� n = 1+ m = 1 �
 ������
�
 ��

� ��	*

Br|r=R� = sin θ(g11 cosϕ+ h11 sinϕ). Q.�$>U

$>



4��� .�/� �!
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���
 �����
I
��
 �
���
���  �����
����
 � ��	
���

2��
��� hhh �����
�
�
 �
�������

6��
���
� � ���
��� h*

UI = R�

(
R�
Rs

)2
r
Rs

−
(
R�
r

)2

2 +
(
R�
Rs

)3 sin θ (g11 cosϕ+ h11 sinϕ). Q.�$%U

1�
�����
 ������
 	�� ���
��� hh*

f(θ, ϕ) = V1 sin θ (g11 cosϕ+ h11 sinϕ), Q.�$;U

�	
 V1 	
)��� �������� Q.�<.U�

,� ��=
�� ���
I
��� 	��  ��
���
�
 Q.�#%U ��	��+ ��� ���	
 n −
− m & ����� �)���
+ �
�+ �
 ���
�+ � �
���
����

��� ����

 Qn = 1+

m = 1U+  ��
���
� � ���
��� hh �
 ����

��� � ��	
 ���
����� ���
I
����

� 	
���� ����

 ��� ��

� ��	*

UII = −V1
R3
s

R3
L −R3

s

(
R3
L

2r2 + r

)
sin θ (g11 cosϕ+ h11 sinϕ) + const. Q.�?"U

�  ��
 � ���
��� hhh+ �
� �I
 ���� ���
�
��+ V��
����
����� 	� ���

���
	
 �
 �������

$%
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4
	�
���
� ��� ��
��
 ��
	�� �������  ��� �
 ������
�
*

Br|r=R� = g20P2(cos θ) +
2∑

m=1

P
(m)
2 (cos θ) [g2m cosmϕ+ h2m sinmϕ] . Q.�?#U

6��
���
� � ���
��� h*

UI = −R�

(
R�
r

)3
−
(
R�
Rs

)3 (
r
Rs

)2

3 + 2
(
R�
Rs

)5 {g20P2(cos θ)+

+ P
(1)
2 (cos θ) [g21 cosϕ+ h21 sinϕ] +

+P
(2)
2 (cos θ) [g22 cos 2ϕ+ h22 sin 2ϕ]

}
. Q.�?.U

F�� ��
��� �
����
 �
��������  ��� � ���
��� h*

Br = R�
3
R3

�
r4 + 2

(
R�
Rs

)3
r
R2
s

3 + 2
(
R�
Rs

)5 {g20P2(cos θ)+

+ P
(1)
2 (cos θ) [g21 cosϕ+ h21 sinϕ] +

+P
(2)
2 (cos θ) [g22 cos 2ϕ+ h22 sin 2ϕ]

}
, Q.�?<U

�	
 P2(cos θ) = 1
2

(
3 cos2 θ − 1

)
+ P (1)

2 (cos θ) = 3 sin θ cos θ+ P (2)
2 (cos θ) =

= 3 sin2 θv

Bθ = −R�

R3
�
r4 −

(
R�
Rs

)3
r
R2
s

3 + 2
(
R�
Rs

)5

{
g20

dP2(cos θ)

dθ
+

+
dP

(1)
2 (cos θ)

dθ
[g21 cosϕ+ h21 sinϕ] +

+
dP

(2)
2 (cos θ)

dθ
[g22 cos 2ϕ+ h22 sin 2ϕ]

}
, Q.�?$U

$;



�	
 dP2(cos θ)
dθ = −3 sin θ cos θ+ dP

(1)
2 (cos θ)
dθ = 3 cos 2θ+ dP

(2)
2 (cos θ)
dθ = 3 sin 2θv

Bϕ = R�

R3
�
r4 −

(
R�
Rs

)3
r
R2
s

3 + 2
(
R�
Rs

)5

{
P

(1)
2 (cos θ)

sin θ
[g21 sinϕ− h21 cosϕ] +

+2
P

(2)
2 (cos θ)

sin θ
[g22 sin 2ϕ− h22 cos 2ϕ]

}
=

= R�

R3
�
r4 −

(
R�
Rs

)3
r
R2
s

3 + 2
(
R�
Rs

)5 {3 cos θ [g21 sinϕ− h21 cosϕ] +

+6 sin θ [g22 sin 2ϕ− h22 cos 2ϕ]} . Q.�??U

4
	�
���
� ����
���J=
�  ��� �
  ��
�!����� ��������


Br|r=Rs = V2 {g20P2(cos θ)+

+ P
(1)
2 (cos θ) [g21 cosϕ+ h21 sinϕ] +

+P
(2)
2 (cos θ) [g22 cos 2ϕ+ h22 sin 2ϕ]

}
, Q.�?/U

�	
 �
� V2 �����
�
� ��=�� ���I��
��

V2 ≡ ν ′2(Rs) =
5
(
R�
Rs

)4

3 + 2
(
R�
Rs

)5 =
5R4

�Rs

3R5
s + 2R5�

. Q.�?>U

3
��� ���
���+ ��  ������� 	�� ���
��� hh ��
�����
 ������
 f(θ, ϕ) =

=
2∑

m=0
f (m)(θ, ϕ)+ �	


f (0) = g20V2P2(cos θ),

f (1) = V2P
(1)
2 (cos θ) [g21 cosϕ+ h21 sinϕ] ,

f (2) = V2P
(2)
2 (cos θ) [g22 cos 2ϕ+ h22 sin 2ϕ] .

Q.�?%U

4
��������  � ��	
������� ��
 ��� ��
	�� �����
 �
������� �

�
�������� ��
�
����� m�

?"



���  ��
���
��� �
������ � m = 0 � m = 2  ����

��� ���
���


���
I
��
� 6�� m = 0*

U (0) = −1

2
g20V2

R4
s

R5
L −R5

s

3r5 + 2R5
L

6r3

(
3 cos2 θ − 1

)
, Q.�?;U

 �� m = 2*

U (2) = −3V2
R4
s

R5
L −R5

s

3r5 + 2R5
L

6r3 sin2 θ (g22 cos 2ϕ+ h22 sin 2ϕ) . Q.�/"U

3
 
�� �
�������� ��
	�� �����J �
������� � m = 1+ ���
I
��


	��  ��
���
�
 ������� ��	
� ��
�� ��	 �
����
����� ��	
� � 	
����

����

 �� ��=
�� ���
I
��� 	�� Br|r=Rs Q.�..U ���
����� ������ �


��
�

��
 �� ������ 	������ �����+ 	�� ������! l = 1*

Br =
∞∑
k=1

P
(1)
2k−1(cos θ) (Ckl cosϕ+Dkl sinϕ) =

= V2P
(1)
2 (cos θ) (g21 cosϕ+ h21 sinϕ) , Q.�/#U

����	


∞∑
j=1

Cj1P
(1)
2j−1(cos θ) = g21V2P

(1)
2k−1(cos θ)

∣∣∣∣∣∣∣×P
(1)
2 (cos θ),

π/2∫
0

sin θ dθ ,

∞∑
j=1

Dj1P
(1)
2j−1(cos θ) = h21V2P

(1)
2k−1(cos θ)

∣∣∣∣∣∣∣×P
(1)
2 (cos θ),

π/2∫
0

sin θ dθ .

Q.�/.U

A�����
�+ ��� �
 ���
��
 [0, 1]  ����
	��)���
 ������� �
I
�	�


�	��
����� �)������ �������
����+  ������*

Ckl

∥∥∥P (1)
2k−1(cos θ)

∥∥∥2

[0,π2 ]
= g21V2

π/2∫
0

P
(1)
2 (cos θ)P

(1)
2k−1(cos θ) · sin θ dθ, Q.�/<U

����	


Ckl
g21

=
V2∥∥∥P (1)

2k−1(x)
∥∥∥2

[0,1]

1∫
0

P
(1)
2 (x)P

(1)
2k−1(x) dx, Q.�/$U

?#



� �	
������
 ���
I
��
  ����

��� 	�� Dkl

h21
� P	
��

∥∥∥P (1)
2k−1(x)

∥∥∥2

[0,1]
=

1

2n+ 1

(n+m)!

(n−m)!
=

2k(2k − 1)

4k − 1
, Q.�/?U

�	
 ���
��+ ��� � 	
���� ����

 n = 2k−1+ m = 1� � 	
���
�H
�  
�
�	)�

� �����
�
���� Ck ≡ Ckl+ Dk ≡ Dkl� 6�	��
���� ���
I
��
 	�� ��
	�
�
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	��)���! ������� �
I
�	�


P (m)
n (x) =

(
1 − x2)m2 dm

dxm
Pn(x), Q.�//U


 �
�I
 ��+ ��� (P2(x))
′ = 3x+ �����
�
����  ������*

Ck
g21

=
Dk

h21
=

3(4k − 1)

2k(2k − 1)
V2

1∫
0

(x− x3) (P2k−1(x))
′ dx Q.�/>U

Q��� �
��� .�#U� ��� ������
��� �!�	�=
�� � V�� ���
I
��
 ���
��
�


��I�� ��� ������
���� ��������

I2k−1 =

1∫
0

(x− x3) (P2k−1(x))
′ dx =

k∑
i=1

(2i− 1)a2i−1

( 1

2i
− 1

2i+ 2

)
=

=
k∑
i=1

2i− 1

2i(i+ 1)
a2i−1, Q.�/%U

�	
 a2i−1 & �����
 � ��)��� ��
�
 ��V�����
���  �� ��
 
��!  ������


�
I
�	�
 (2k − 1)���  ���	�
 P2k−1(x) =
k∑
i=1

a2i−1x
2i−1�

� ����
  ����

� ��
	�J=

 ���
I
��
 	��  ��
���
�


��
	�� ������ �
������� m = 1 � ���
��� hh*

U (1) = −
∞∑
k=1

P
(1)
2k−1(cos θ) [Ck cosϕ+Dk sinϕ]×

× R2k+1
s

R4k−1
L −R4k−1

s

2kr4k−1 + (2k − 1)R4k−1
L

2k(2k − 1)r2k + const. Q.�/;U

?.



3
����
 .�#

6
���
 ��V�����
��� � ��
�� ��	
 Q	�� ��
	�� ���U+ �!�	�=�
 �

�
���I
��� 	�� �
������ n = 1+ m = 0 � n = 2+ m = 1�

k I2k Ak Q�������

n = 1�

m = 0�

I2k−1
Ck
g21

= Dk

h21

Q�	
��������

n = 2�

m = 1�

P
(1)
2k−1(cos θ)

# 1
8

5
8V1

1
4

9
8V2 sin θ

. − 1
48 − 9

48V1
1
4

7
16V2 3 sin θ 5 cos2 θ−1

2

< 1
128

13
128V1 − 5

64 − 11
128V2 15 sin θ 21 cos4 θ−14 cos2 θ+1

8

$ − 1
256 − 17

256V1
7

160
9

256V2 7 sin θ 429 cos6 θ−495 cos4 θ+135 cos2 θ−5
16
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 ���� ���������J�� 2	�
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��
���
!+ �
�	
��J=�! �����
����
��� ���
��� h � hh+ hh � hhh+ 
 �
�I


���
��� hh+ hhh � ���
���+ ����
������
 �� �������
����  �������� θ =

= π
2 + �
��
���
����
 �  ��
�!������ �
�	
�
 ��� ��
��� �
��������  ���

� ��=
� ����

  �
�
� 
�
J� �
����+ �� �
�� ��
	�
� ��=
�����
��
 �


V��!  ��
�!�����! Q���� .�>U ����� �  ��
�!�������  ��������J

6 =
c

4π
([7,12] − [7,11]) , Q.�>"U
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��
�+ �����
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�
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 ������ i/<j�

?<



2������
 �� ���� ��� ��
��� �
����
  ��������  ��
�!��������

���
*

iϕ =
c

2π
Br

(
r,
π

2
− 0, ϕ

)
δ
(
θ − π

2

)
+

+
c

4π
Bθ(Rs + 0, θ, ϕ) δ(r −Rs)−

− c

4π
Bθ(RL − 0, θ, ϕ) δ(r −RL), Q.�>#U

iθ = − c

4π
[Bϕ(Rs + 0, θ, ϕ) δ(r −Rs) −Bϕ(RL − 0, θ, ϕ) δ(r −RL)] . Q.�>.U

4��� .�>� 6��
�!������
 ���� �
 ��
���
! �
�	
�
�

� �
�������+ � ����

  ��� 
���
������ 	� ���  ��
�!������� ���

��

� ������ �	�� �
���
��J ��� ��
���+ 
 ��
��� iϕ� �  �������� θ = π
2 +

��� �����
�����
� �
�����
����� �������� ���J+ 
��  �������� ��	
� �
��


iϕ|θ=π
2

=

=
c

2π

⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

0, R� ≤ r ≤ Rs,

R2
sV1

2
1
r2 +

∞∑
k=1

AkP2k(0) R2k+2
s

R4k+1
L −R4k+1

s

R4k+1
L −r4k+1

r2k+2 , Rs < r ≤ RL,

R2
sV1

2
1
r2 , r > RL,

Q.�><U

?$



�
  ��
�!����� r = Rs*

iϕ|r=Rs = − c

4π

∞∑
k=1

Ak
dP2k(cos θ)

dθ

(2k + 1)R4k+1
s + 2kR4k+1
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*

Ψ =
∞∑
n=0

1

n!
cnz

n. Q<�?U

� 	
�
������ ����
�
 ����	��
� ��	 Q<�?U ��I�� �
� ��
�� �
�

Ψ = c0 + c1(x+ iy) +
1

2
c2(x+ iy)2 +

1

6
c3(x+ iy)3 + · · · =

c0 + c1(x+ iy) + c2

[
1

2

(
x2 − y2)+ ixy

]
+

+ c3

[(
1

6
x3 − 1

2
xy2
)

+ i

(
1

2
x2y − 1

6
y3
)]

+ . . . Q<�/U
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 Un,1 � �����
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���J=�


��	
 Q<�/U*

Ψ = c0 +
∞∑
n=1

cnΨ
n = c0 +

∞∑
n=1

cn
[
Un,1(x, y) + iUn,2(x, y)

]
. Q<�>U
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	��
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 ��	
  � ��
�
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U =
∞∑
n=1

[
anU

n,1(x, y) + bnU
n,2(x, y)

]
. Q<�%U
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# # x

. y

. # 1
2

(
x2 − y2

)
. xy

< # 1
6

(
x3 − 3xy2

)
. 1

6

(
3x2y − y3

)
$ # 1

4!

(
x4 − 6x2y2 + y4

)
. 1

6

(
x3y − xy3

)
? # 1

5!

(
x5 − 10x3y2 + 5xy4

)
. 1

5!

(
5x4y − 10x2y3 + y5

)
����
���J=�
 ��	
 Q<�%U ����
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������ ������H
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∂Un+1,1

∂x = Un,1,

∂Un+1,1

∂y = −Un,2,

⎧⎪⎨
⎪⎩

∂Un+1,2

∂x = Un,2,

∂Un+1,2

∂y = Un,1.
Q<�;U
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����
  ������	��
 & 216  ���	�
 n� 6������	�
�

��I
� ���� ���
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dΨn+1

dz
=
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∂x
+ i

∂Un+1,2

∂x
=
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∂y
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∂Un+1,1

∂y
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∂Un+1,j

∂x = Bn+1,j
x ,

∂Un+1,j

∂y = Bn+1,j
y ,

Q<�##U
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Un,1 = C1 ⇔ Ln,2 = C1,

Un,2 = C2 ⇔ Ln,1 = C2,
Q<�#.U

�	
 C1+ C2 &  ����������
 �����
���� A�
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��� ����
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∣∣1n+1,j
∣∣ =√(Un,1)2 + (Un,2)2 = C̃, j = 1, 2, Q<�#<U
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 C̃ ≥ 0 &  �������
��
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anU
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n−1,2
)
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By = b1 +
∞∑
n=2

(
bnU

n−1,1 − anU
n−1,2
)
.
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U =
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anU

n,1 + bnU
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�����  ���

L =
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bnU

n,1 − anU
n,2) = C. Q<�#/U
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 �
=
���
���
 �����U+ 
  �� j = 2 & ��
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���
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Ψn
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ein(ϕ+ϕ0) =
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rnP (m)
n (cos θ)

⎧⎨
⎩ cosmϕ

sinmϕ

⎫⎬
⎭ = rm sinm θ

⎧⎨
⎩ cosmϕ

sinmϕ

⎫⎬
⎭ · rn−m dm

d cosm θ
Pn(cos θ),
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���

 �����  ���	�
 m− 1 i#;j�

#$%&'($ ���� ?-':/*=++./ ,*+,-,*+./ 0$-1,+'2/34'/

5,&'+,1. ��0, 5,-9*4$ : 5-,3<-$+3<:/++,1 3&;2$/� I$5'3J

: -$6&'2+.8 3'3</1$8 4,,-*'+$<@ :.-$K/+'9 2/-/6 7$-,:./

L;+4('' ' 5/-/+,-1'-,:$++./ )M? 5, NE��O P31� <$%&� ���Q�
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{ρ, ϕ, z}

�������	� �����

������� �����		 �

����	�� �����	�����

{ρ, θ, ϕ}
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	�� �����  !"

V 0
2

1
2

(
2z2 − x2 − y2

)
1
2

(
2z2 − ρ2

)
r2 · P (0)

2 (cos θ)
(
U2,1
)
3D

− 2
(
U2,2
)
3D

V 1,1
2

x2−y2

2
ρ2

2 cos 2ϕ r2

6 · P (2)
2 (cos θ) · cos 2ϕ

(
U2,1
)
3D

V 1,2
2 xy ρ2

2 sin 2ϕ r2

6 · P (2)
2 (cos θ) · sin 2ϕ

(
U2,3
)
3D
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Um,j = rm sinm θ

⎧⎨
⎩cosmϕ, 
��� j = 1,

sinmϕ, 
��� j = 2.
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V 0
3

1
6

[
2z3 − 3z(x2 + y2)

]
r3

3 P
(0)
3 (cos θ)

V 1,1
3 z x

2−y2

2
r3

30P
(2)
3 (cos θ) cos 2ϕ

V 1,2
3 xyz r3

30P
(2)
3 (cos θ) sin 2ϕ

V 2,1
3

1
6(x

3 − 3xy2) r3

90P
(3)
3 (cos θ) cos 3ϕ

V 2,2
3

1
6(3x

2y − y3) r3

90P
(3)
3 (cos θ) sin 3ϕ
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 ��
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��
*

q = cos
ψ

2
· 1 + sin

ψ

2
· u · b + sin

ψ

2
· v · � + sin

ψ

2
· w · �, Q<�<#U
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#·#=# #· b=b #· �=� #· �=�

b·#=b b· b= −# b· �=� b· �= −�
�·#=� �· b= −� �· �= −# �· �=b

�·#=� �· b=� �· �= −b �· �= −#
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q−1 =
q∗

‖q‖ = cos
ψ

2
· 1 − sin

ψ

2
· u · b− sin

ψ

2
· v · �− sin

ψ

2
· w · �, Q<�<<U
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 Q*
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Q =

(
cos2 ψ

2 +(u2−v2−w2) sin2 ψ
2 2[uv sin2 ψ

2 −w sin ψ
2 cos ψ2 ] 2[uw sin2 ψ

2 +v sin ψ
2 cos ψ2 ]

2[uv sin2 ψ
2 +w sin ψ

2 cos ψ2 ] cos2 ψ
2 +(v2−u2−w2) sin2 ψ

2 2[vw sin2 ψ
2 −u sin ψ

2 cos ψ2 ]
2[uw sin2 ψ

2 −v sin ψ
2 cos ψ2 ] 2[vw sin2 ψ

2 +u sin ψ
2 cos ψ2 ] cos2 ψ

2 +(w2−u2−v2) sin2 ψ
2

.
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U = a11
x2

2
+ a22

y2

2
− (a11 + a22)

z2

2
+ a12xy + a13xz + a23yz. Q<�</U
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1 =

⎛
⎜⎜⎝
Bx

By

Bz

⎞
⎟⎟⎠ =

⎛
⎜⎜⎝

a11x+ a12y + a13z

a12x+ a22y + a23z

a13x+ a23y − (a11 + a22)z

⎞
⎟⎟⎠ , Q<�<>U
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1 = M� =

⎛
⎜⎜⎝
a11 a12 a13

a12 a22 a23

a13 a23 −(a11 + a22)

⎞
⎟⎟⎠
⎛
⎜⎜⎝
x

y

z

⎞
⎟⎟⎠ , Q<�<%U
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M = MT , Q<�<;U

ucM = 0. Q<�$"U
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���� ���
�
J� ��
	�J=�
 �������
 �
����� M *

#� ��
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�
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.� ������
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*

M =

⎛
⎜⎜⎝
λ1 0 0

0 λ2 0

0 0 λ3

⎞
⎟⎟⎠ , Q<�$#U
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Q]U λi < 0 Qi = 1, 2U+ λ3 > 0 & �	�� ������
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 ��
�
��
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 i###j Q−− +Uv
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a = −1 X�<,24' 3 5-91.1' ;0&$1' 1/K*; $3'15<,<$1'@ +$+'6$++./ +$ ,3J Oz
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	�J=�� ���
���*

1 =
1

2
M�. Q<�?#U

2	�
�� M �
 
�� �
 ����
��� �
����
�  ��������! ��V�����
�����

��
	)� �
����+ ��� ��
��� �������� �I
 ��	��  ���������� & �
����

 ������	��! ��
��
��  ���	�
*

Tijk =
∂3U

∂xi∂xj∂xk
Q<�?.U

Q�
� � �
�

+ x1 = x+ x2 = y+ x3 = zU� 1
���
� & 
�� ��)���
 � �
	����

�
������* Mij = TijkRk Q�
 ����

�+ ���  �  ������J=���� ��	
��
�

 �	�
���
�

��� ��������
��
U� �������
 �
����
 Tijk*

#� ����
����  � �J��� 	��� ��	
��
�*

Tijk = Tjik = Tikj = Tkji = Tjki = Tkij; Q<�?<U

.� �
�
����� ���J ��)����  � �J��� 	��� ��	
��
�*

Tiik = Tkii = Tiki = 0. Q<�?$U
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 � ��=
� ����

 �
�
��������

����J��� ������ �
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 ����
���� Q<�?<U
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� ��	*

Bi =
1

2
TijkRjRk. Q<�??U
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��� � ������
����� �
����


��
	�J=�� ���
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�
U

1 = Λ(R)� = λR�, Q<�?/U
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 p

Bi =
1

p!
Tij1j2...jpRj1Rj2 . . . Rjp, Q<�?>U
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 Tij1j2...jp & �
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�
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1 = Λ(R)� = λRp−1�. Q<�?%U
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��� ���
���
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 �
����

 ��=
�� ��	
 ��  ��� ������� �
��� <�$
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����� ���
���� �
���
* V 0
3 � �
��
����� ��� �� V 1,1

3 + V 1,2
3 + V 2,1

3 + V 2,2
3 �

2��
������� �
 ��
	�J=
� �! �
���
*

V 0
3 =

1

6

[
2z3 − 3z(x2 + y2)

]
, Q<�?;U

V 1,2
3 = xyz, Q<�/"U

Ṽ 2,1
3 =

1

3
√

2

(
x3 − 3xy2) , Q<�/#U

Ṽ 2,2
3 =

1

3
√

2

(
3x2y − y3) , Q<�/.U
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√
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 �	
��������� ����
�� �����  ��� �

��������J 	�  ������
 �  �����
����
U*

V 0
3 + V 1,j

3 ∝ 2Ṽ 2,k
3 ,

V 0
3 + Ṽ 2,j

3 ∝ V 1,k
3 ,

V 0
3 + 2V 2,1

3 + Ṽ 2,1
3 + Ṽ 2,2

3 ∝
√

5V 0
3 ,

Q<�/<U
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 j, k = 1, 2� K���� �
������� ���������  � ��	
������� � ����
J���
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��
���

�����  ��� �� �����! ����
�! �
 �	
)���  �����
������
�� 
�
�����
����

�
�

 ��	�� �
������
�� ���
��
 �����+ �
	
�

��
  
����� 	����

��  ��
���
��� Q<�?;U  � ��	
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�� �	���

3���
 Q���� <�;U+ �
	
��
�  ��
���
��� V 0
3 + ����
� ����� 
�
���

	�������
���� ���
��� ����� #���  ���	�
� 6��
 � 
) ���
�������


���
���������
������ �������
���� ��� Oz+ �	�
�� � �
�
���



��� �����
���!  ��
�!����
� ����� 

� �I
 �
 �

��
�  ��������+ 
 	�


�

���! �����
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���� F���
 ��! ��
J��� 	�
 ��������
���! �
 
�
+

�
 �
��
���
  � ��� Oz & γ+  �� z ≥ 0 � γ−  �� z ≤ 0�

�
����  ��� � 	
�
�����! ����	��
�
! ��

� ��	*

1 =

⎛
⎜⎜⎝
Bx

By

Bz

⎞
⎟⎟⎠ =

⎛
⎜⎜⎝

−xz
−yz

z2 − 1
2(x

2 + y2)

⎞
⎟⎟⎠ . Q<�/$U
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 � ��! ��
��
��
 �����  ���

−dρ
ρz

=
dz

z2 − ρ2

2

Q<�/?U

���
�����
��� � ��	


z = ±1

2

√
ρ2 +

C

ρ2 . Q<�//U

���
I
��
 Q<�//U  
�
!�	�� � ��
��
��
 	��! �

���! �������  �� C = 0*

z = ±ρ
2
. Q<�/>U
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��� <�>�

#$%&'($ ��G� )%,%D=++./ 3,%3<:/++./ 6+$2/+'9 ' -/5/-.

+;&/:,> <,24' ��0, 5,-9*4$ -$6+,:'*+,3<' R4,+'2/34$9

*'4-'<'2/34$9 <,24$S� C > 0@ C̃1,2 > 0@ C1 ' C2 F 5-,'6:,&J+./

2'3&$�

 &�&'(����

��&��������

������	
) λ
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λ2 = 1 �2 = C(0 0 1)T

λ1 = −1 �1 = C(0 0 − 1)T

λ3,4,5,6 = 1√
5

TC%$9 4,1%'+$('9 �3,4 = C̃1

⎛
⎜⎝
±2
0
−1

⎞
⎟⎠ ' �3,4 = C̃2

⎛
⎜⎝

0
±2
−1

⎞
⎟⎠ :'*$

�− =

⎛
⎜⎝

2C1

2C2

−
√
C2

1 + C2
2

⎞
⎟⎠

λ7,8,9,10 = − 1√
5

TC%$9 4,1%'+$('9 �7,8 = C̃1

⎛
⎜⎝
±2
0
1

⎞
⎟⎠ ' �3,4 = C̃2

⎛
⎜⎝

0
±2
1

⎞
⎟⎠ :'*$

�+ =

⎛
⎜⎝

2C1

2C2√
C2

1 + C2
2

⎞
⎟⎠

+!;!*! ����
�� �	��� = >9� ?�	��@�����A

�
����  ���+ �
	
�����  ��
���
��� V 1,2
3 Q��� Q<�?;UU*

1 = (yz xz xy)T . Q<�/%U
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��� �����  ���
dx

yz
=
dy

xz
=
dz

xy
Q<�/;U

���
�����J��� � ��	
 ⎧⎨
⎩x

2 − y2 = C1,

x2 − z2 = C2,
Q<�>"U
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) λ
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���

λi = 1√
3
@ i =

= 1, 2, 3, 4
�1 = C

⎛
⎜⎝

1
1
1

⎞
⎟⎠@ �2 = C

⎛
⎜⎝

1
−1
−1

⎞
⎟⎠@ �3 = C

⎛
⎜⎝
−1
−1
1

⎞
⎟⎠@ �4 = C

⎛
⎜⎝
−1
1
−1

⎞
⎟⎠

λi = − 1√
3
@ i =

= 5, 6, 7, 8
�5 = C

⎛
⎜⎝

1
−1
1

⎞
⎟⎠@ �6 = C

⎛
⎜⎝

1
1
−1

⎞
⎟⎠@ �7 = C

⎛
⎜⎝
−1
1
1

⎞
⎟⎠@ �8 = C

⎛
⎜⎝
−1
−1
−1

⎞
⎟⎠
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#$%&'($ ��H� ?$-+./ 4,1%'+$('' 5,</+('$&,: -$6&'2+.8

-,*,: : ,4-/3<+,3<98 +;&/:.8 <,2/4 ��0, 5,-9*4$ :

5-,3<-$+3<:/�

+����$ "�����	�� "���

� V 0
3 +KV 1,2

3

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
−z (x−Ky)

z (Kx− y)
1
2

(
2z2 − x2 − y2

)
+Kxy

�� V 0
3 + K√

2
(Ṽ 2,1

3 + Ṽ 2,2
3 )

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
−xz +K

(
x2−y2

2 + xy
)

−yz +K
(
−xy + x2−y2

2

)
1
2

(
2z2 − x2 − y2

)

��� V 1,2
3 +KṼ 2,1

3

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
yz +K x2−y2

√
2

xz −K
√

2xy

xy

�U V 1,2
3 +KṼ 2,2

3

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
yz +K

√
2xy

xz +K x2−y2
√

2

xy

h� 6��
���
� UI = V 0
3 +KV 1,2

3 + �	
 K & ��������  
�
�
��� ���
��


�
 
��  �� K ∈ (−∞,−1) ∪ (1,+∞) �
I
� �
  ����!⎧⎨
⎩z = 0,

x =
(
K ±√

K2 − 1
)
y.

Q<�>#U
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�
 �����  ��� ������ ���
��� ����� � ��������J 	�  ������
 �

�
�H�
����� �
����
 ��� 
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���+ �
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��� Ṽ 2,j
3 Qj = 1, 2U� 6��

K ∈ (−1, 1) ���
��
 �
 
�� ���������J��

�
���
��
 �
 
�� Q ����� ��� OzU  �� K ∈ (−∞,−2) ∪ (−1, 0) ∪
∪ (0, 1) ∪ (2,+∞)*

x = y = ±
√
K − 2

K − 1
z, x = −y = ±

√
K + 2

K + 1
z. Q<�>.U

6��K ∈ [−2,−1]∪[1, 2] ���
J��� ��H� �
 �� ��!+ 	�� ������!  �	���
���


���
I
��� ��
J� ������

hh� ��
���  ��
���
��� U1 = V 0
3 +KṼ 2,1

3 � U2 = V 0
3 +KṼ 2,2

3 �
��������

�����
J=���� �� ��! ��H�  �������� ����
�� ����	��
�  ��
���
�

UII = V 0
3 +

K√
2
(Ṽ 2,1

3 + Ṽ 2,2
3 ) = V 0

3 +K(V 2,1
3 + V 2,2

3 ). Q<�><U
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�� Q ����� ��� OzU  �� K ∈ (−∞,−1) ∪ (−1, 0) ∪ (0, 1) ∪
∪ (1,+∞)*

x = −y =
K ±√

K2 + 8

2
z,⎧⎪⎨

⎪⎩
x =

−K ±√
K2 + 8

2

√
3 + 1

2
z,

y = (2 −
√

3)x,⎧⎪⎨
⎪⎩
x =

K ±√
K2 + 8

2

√
3 − 1

2
z,

y = (2 +
√

3)x.

Q<�>$U
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�+ ���  �� K = ±1
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�
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���
��� ����� � ��������J 	�  ������
 ��� 
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���+ �
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V 1,j
3 Qj = 1, 2U�

hhh� 6��
���
� UIII = V 1,2
3 +KṼ 2,1

3 Q �� K �= 0U� ���
��
 �
 
��* ���

Oz+

⎧⎨
⎩x = 0,

y =
√

2
K z.

�
���
��
 �
 
�� Q ����� ��� OxU*  �� K <
√

2
3⎧⎪⎪⎪⎨

⎪⎪⎪⎩
x = ±

√ √
K2 + 2√

K2 + 2 − 2K
y,

y =
−K +

√
K2 + 2√
2

z,

Q<�>?U

�  �� K > −
√

2
3 ⎧⎪⎪⎪⎨

⎪⎪⎪⎩
x = ±

√ √
K2 + 2√

K2 + 2 + 2K
y,

y = −K +
√
K2 + 2√
2

z.

Q<�>/U
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 UIV = V 1,2
3 +KṼ 2,2

3 ��I��

 ������� �� ���
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�
�� x↔ y �

K ↔ −K�
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��� h ��
��
��� �����  ��� �	
)��� �
������

 �����
������
��� 3
�+ ��
��
��
 �!  ��
���� �
  �������� xOy

dx

Ky − x
=

dy

Kx− y
Q<�>>U

��

� 	�
 ����
�� �
H
���*

|y + x|1−K = C |y − x|1+K ,

|y − x|1−K = C |y + x|1+K .
Q<�>%U

F
� �I
 ����������+ �����  ���+ ������
 �
I
� � 	��! ��
����

 
� 
�	��������!  ��������!+ ��	
�I
=�! ��� Oz �  
�
�
�
J=�!

 �������� xOy  �  ����� y = x � y = −x �����
����
���+ �
  ���	
J� V��

 �������� Q�  
���� Bx = By+ �� ������ Bx = −ByU+ 
 �! ��
��
��� �
�I


��
���
J��� ���
�����
����� 6�� V��� 	��  
���� �� V��! ���
��
����!

 �������
� ∣∣∣∣z2 − K − 1

2(K − 2)
s2
∣∣∣∣
K−1

= Cs2  �� K �= 1+ K �= 2,

s = C  �� K = 1,

s2 = C exp

{
2z2

s2

}
 �� K = 2,

Q<�>;U


 	�� ������

s2
∣∣∣∣z2 − K + 1

2(K + 2)
s2
∣∣∣∣
K+1

= C  �� K �= −1+ K �= −2,

s = C  �� K = −1,

s2 = C exp

{
2z2

s2

}
 �� K = −2,

Q<�%"U

�	
 s =
√

2x& �
�������
 	� ��� Oz � �����
�����J=
�  �������� Q� ��)���

��
�
U+ C & �����
��
�

6�������� ����
���+ ������
J=�
  �� ��
�
���!  
�
�
��
 K � −K
�	
������ � ��������J 	�  ������
 ������ ��� Oz �
 ���� π

2 + 	���
�����

#""
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�
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��! ���
��!

����
� h

K = 0 ∞ &

0 < |K| < 1 #" &

|K| = 1 / .

1 < |K| ≤ 2 / $

|K| > 2 #" $

����
� hh

K = 0 ∞ &

0 < |K| < 1 #$ &

|K| = 1 % /

|K| > 1 #$ &

����
� hhh+ hg

K = 0 % /

0 < |K| <
√

2
3 #" $

|K| ≥
√

2
3 / $

#"#
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������
�� �� �����J � �
��
���J �����  ��� � ���
������� ���
���

�����  �� K ≥ 0�

� ����

 0 ≤ K < 1 �  ��� �����
����
! z > 0 � z < 0

��
J��� 	�
 �

���
  ��
�!����� �����
���� ����� � H� + �	�=�� �	���

��� Oz� ����
���� ��� ���
��J� M��
�
�N ���
��� ������ 6�� K > 0

�

���
  ��
�!����� �I
 �
 
���
���������
������+ 
 	
��������
��+ 


����
���J=�
 �! �����  ��� �  ��
���� �
  �������� xOy ���
��J� �
���


 ���
 ����=)���!  
�
���+ ����� ������! ����J��� �
���
 �
���
��!

�
 
�
� 0=) �
���
 �
���
��! �
 
�
 ��
���
J� �  ����
�� �
I	�

 ���
�� Q���� <�##U� 6�� K = 1+ ����
��� ����
���� ���������
+ �

���


�����
 �
����
J��� � ����  �
��
=

��� � /����
��J ����� �
 ���
���

 ����� Q���� <�#.
U� K�
  ���
� ���
��
��� � �
�����
�
 ������� �
 
���

M ����
���N� 2	�
�� � ������
 �� ����

�+ �
	
�

��! <�� � $�� �
�������

��������� �� � ���
 Q<�?;U+ ���
�
�  ���
� �
I�� �  �������� xOy

Q ���
� y = −xU+ 
 �
 ��� 
	

� � ���J Oz�

4��� <�##� �����  ��� � ���
������� ���
��� ����� � ����

 ������
���

 ��
���
��� UI = V 0
3 + KV 1,2

3 * 
U K = 0.25+ �U K = 0.5� F�
�����

H���!����� �������  ��
�
�� �
���
��
 �
 
��+ �
�)���� & ���
��
�

6�� K > 1 ������H
� �  �������� xOy ���
�
� ����� �
� 
	

��� �


	�
 Q���� <�#.�U+ ���� �
I	� �������� ��
�����

��� � ������  
�
�
��


K � �  �
	
�
 ���
����� � π
2 � C�� �
�

��� ��� Oz+ �� ��
  ��  
�
!�	


��
�
���  
�
�
��
 �
�
� 
	�����  
�
��
)� ���� H� ��� 6��
	
��
 �����

 ��� � 
) ���
������� ���
��
��� & �  ��
���� �
  �������� xOy ���
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���
��J� �I
 �
 M��
�N Q�
� � H� ��U+ 
 M�
	��N� 6����� ����
���J=�!

��� Oz γ������  �� 1 < K < 2 � ����
� M��
�
�
N ���
��� ����� �!�	��

�
���
 �
 
�
�M ���H� 
N+  �
I	
+  �� 0 < K < 1+ ���H�
 �����  �����

�����  ����

4��� <�#.� �����  ��� � ���
������� ���
��� ����� � ����

 ������
���

 ��
���
��� UI = V 0
3 +KV 1,2

3 * 
U K = 1.0+ �U K = 1.3�

�����
 ���
�
��
 �� ������
���� ��������� ��

� �
���  ��

��
�
���  
�
�
��
 K = 2 Q���� <�#<
U� 6�� K > 2 �� �
I	�� ��

 �����
� ��� Oz ��	
��J���  � 	�
 �
���
��! �
 
�
 Q���� <�#<�U� ��


�
����
  ��������+  ��!�	�=
� �
�
� ��� Oz �  ����J y = −x+ ������

�
��J�
�� � �
! �� ����� �
I	� V���� ������ �
 
�
��+ ��� ��	
�I
�

 ������ ��� Oz+ ����J��� �

�����  ��
�!�������� K�� ���� � ������

 
�
�
��
 K �
�H���J��� � �  �
	
�
 �
�I
 ���
����� � π
2 Q���� <�#$U�

3
��� ���
���+  �� K > 2 M��
�
�N ���
��� ����� ������� �� �
! �
���)!

M ���H� ��N+ ��� ��
���� �  �� 1 < K < 2+ 
 �
�I
 	��! �

���!

 ��
�!����
� &  �����! �
������� F
I	�� �� V��! �
������ ��	
�I��

 � ��� �
 
�
� ��
 �� ��! & ���
��J=�
 
�� ��
���� &  �� K > 3

 �
��
=
J��� � M ���H� �N Q �� 2 < K < 3 Q���� <�#<�U �����  ��� �

 ��
���� �
  ��������+ ��  
� 
�	��������J+ ���
��J� M�
	��N+ 
  �� K >

> 3 Q���� <�#$U & M��
�NU� P
�
���+ ��� V�� M ���H� �N+ !��� �  �
	��
���J�

����� 
��� ���� ���
����! �����  ���+ �
 ��������
�� Q�+ ��
	��
�
����+

����
��� 	
����� �
�

 � �
	
�
��J �
 ����J��� γ��������U � ��� �����
+

��� ����� ���	�� ������ �� ��! ��
J��� �����  ��� � ������ � ���
�
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6�� V���+ �	�
��+  �	!�	� � ���J+ �������
 �� M ���H� ��N �����  ���

�
������  ��I��
J��� � ��� Oz�

4��� <�#<� �����  ��� � ���
������� ���
��� ����� � ����

 ������
���

 ��
���
��� UI = V 0
3 +KV 1,2

3 * 
U K = 2.0+ �U K = 2.8�

4
�������� �
 
�� �
 ������
��J UI = V 0
3 + KV 1,2

3 + 
 ������
��J

ŨI = V 0
3 + K̃V 1,2

3 + �	
 K̃ = 1
K � 6�� K̃ → 0+ ��� �����
�����
� K → ∞+

 ��
 �
 ��� Oz  ���
 
��� ���
�
�

� Q���� <�#$U� 6�� ���
=
���  
�
�
��


K̃ � ����  ����!�	�� 
=) �	�� ���
�
��
 � �� ������ & �

���
  �����


�
����
  
�
��
J� ��=
�����
��+ ��� Oz ��
������� ���
��� ����
�+ � �

 �
	
�
 ������

� ���
�
� ����
 � ���
��J M ���H� 
��N+ �I
 � ��
��
�

�
�

�

3
��� ���
���+ �I
 �
������
��
 �
����! ����

�  ��
���

�+ ���

���� .���  ���	�
 	
���������J� ����H

 �
������
��
 �
��
���� �����

 ��� � �! ���
�������!+ �
� ���� #���  ���	�
� 0��� M��
�
�N Q������ �����

�����  ��� � ������ � ���
U ���
��� ����� #���  ���	�
 � ��=
� ����
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�����+ � ������
  ��!�	�� ��H� ��������
���
 �����  ���+ Σ� ��
�!�����

� ����
 �����
 ��� �
����
  �������� Q���� <�#?U+ γ������ �
 ����
�
����

����J��� M ���H� 
��N+ � �
�������

#"$



4��� <�#$� �����  ��� � ���
������� ���
��� ����� � ����

 ������
���

 ��
���
��� UI = V 0
3 +KV 1,2

3 * 
U K = 4.0+ �U K = 5.5�

+!;!,! C�
�
�������� ������ �	��� ���	
 
����� ����
�B �	���
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��
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�����I�� �
������� V����
�
����! �
 ��
� �	���� � ���� I
  ��
���
�
�

7�
�������
 ����
��� ������
J� � � ����

 ���
� .���  ���	�
�

K����
�
������� �	
��  ����

��� �
� �	
��������� ����
� �����  ���

� ��������J 	�  ������
 �  �����
����
�

6������ V��  �	����

 �
  ���
�
 �	��� �� �
�
	
������
���!

 ����
	��)���! ������� �
I
�	�
 � n = 3+ m = 1 Q���� <�#/U+ �
	
J=
�

���� .���  ���	�
*

W = r3P
(1)
3 (cos θ) · cosϕ =

3

2
r3 sin θ(5 cos2 θ − 1) · cosϕ =

= 6xz2 − 3

2
x3 − 3

2
xy2. Q<�%#U

��I��  ��
�
��+ ��� � 	
���� ����

 ��

��� �
���
 ���
��! �
 
�
+ 


��
��� ����+ ����
���J=�
  ����


x = 0, y = ±2z, Q<�%.U

� H
��� �
���
��! &  ������ ��� Ox � ����  ����!

y = 0, x = ± 2√
11
z. Q<�%<U
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4��� <�#?� Σ� ��
�!����� ������ ���
��� ����� � ����

 ������
���

 ��
���
��� UI = V 0
3 + KV 1,2

3 * 
U K = 0.25+  ��
�!����� ��
J� �����

	��! �������+ �U K = 2.8+  ��
�!�����  �
	��
���J� ����� 	�
 �
����


 ���������

�
 �
���� ��� Oz′ ����� ����
�� ����	��
� �	���  ���I��
������

�
 �
��
��� ��� Ox ��� I
 �	��� ���
� � z > 0  ����!+ �
	
���!

��
��
����� Q<�%.U � Q<�%<U  �� �����
 ��
�
 M+N+ ��I��  �������+

�� ������ Q<�<$U+ �����
����
��� ��
	�J=�
 V����
�
����
  ��
���
��*

W1 = −9

2

(
V 0

3 − 5

3
V 1,2

3

)
, Q<�%$U

W2 = −6

(
V 1,2

3 +
3

2
V 2,1

3

)
, Q<�%?U

W3 =
24√
15

[
V 0

3 − 3

4
V 1,2

3 −
√

11

8
√

2

(
V 2,1

3 − V 2,2
3

)]
. Q<�%/U

4
�������� Q<�%$U� A�
��
��� �����  ��� �
������ ���
�����J���* �

 ��
���� �
  �������� xOy  �� V��� |y ± x|(y ∓ x)4 = C+ C & �����
��
�

�  ��������! x = y � x = −y �����  ���  �����
+ 
 �! ��
��
���

�
�I
 ��I��  �����
������
��� �
��)��� � ��!�	��� �
 ��� Q<�%#U� 2��

Ox ����
��� γ�����
�+ �� �
 H� ��+ 
  ����
 Q<�%<U & H� �+ ��� ��
	�
�

�� �
������
���  ��
���� �
  �������� xOy �����+ �
	
�

��! W3� Σ�

 ��
�!����
� � 	
���� ����

 �
��
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4��� <�#/� �����  ��� ������ ���
��� �����+ �
	
����

 ��
���
��� W Q<�%#U�

+!;!;! ���� *9D	 �	����� 	���D	 
���

� ��=
� ����

+ 
��� ��V�����
��  �� V 0
3 �
 ���
=

��� � ����+

�
	
�
 ���	���� � �
������
��J �����  ���+ �
	
���! ������ ���
���

�����  ��
���
���

U = V 0
3 +KV 1,2

3 + FṼ 2,1
3 +GṼ 2,2

3 , Q<�%>U

�	
K+ F �G& �������
  
�
�
���� A�
��
��
 Q<�?/U  �� V���  �����
�

�

��	 ⎛
⎜⎜⎝
−xz +Kyz + F x2−y2√

2
+
√

2Gxy

−yz +Kxz −√
2Fxy +Gx2−y2√

2
1
2(2z

2 − x2 − y2) +Kxy

⎞
⎟⎟⎠ = λ

√
x2 + y2 + z2

⎛
⎜⎜⎝
x

y

z

⎞
⎟⎟⎠ . Q<�%%U

,� ������� [B,R] = 0 �
�	)�+ ���  ����� ��� Oz �
 
����� ��	��

��������  ����
+ �
 ������! ⎧⎨
⎩y = ux,

z = vx,
Q<�%;U
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�	
 ��
�
��� u  �
	��
���J� ����� �����  �������
������ ��
��
���

f(u) = (2F 2 +KFG−K2)u6 + . . .

+ (KF 2 − 3KG2 − 12FG+ 2K3)u5 + . . .

+ (18G2 − 12F 2 − 5KFG+K2)u4 + . . .

+ 2 (20FG−KF 2 −KG2 − 2K3)u3 + . . .

+ (18F 2 − 12G2 − 5KFG+K2)u2 + . . .

+ (KG2 − 3KF 2 − 12FG+ 2K3)u+ . . .

+ 2G2 +KFG−K2 = 0, Q<�;"U


 ��
�
��� v �������J��� �����
����
���  � ������


v =
Fu(3 − u2) +G(3u2 − 1)√

2K(1 − u2)
. Q<�;#U

3
��� ���
���+ ����
�
 Q<�%;U ��I
� 	
�
�� � �
�
���
 �
H
��� �

������ ����� � �
 
�
�� ��� Oz 	� #$ �
 
��� Q��� � �
��� <�#"U�

,���J���
������ ����J��� �
���� ��
�
���  
�
�
����KFG > 0+ |K| =

= 2+ |F | = |G| = 1+  �� ������! ������� f(u) � Q<�;"U ��I	
���
���

���
=

��� � ����� ����
�
 �����  ��� ������ ���
��� �����  �� V���

� ��������J 	�  ������
 � �
�H�
����� �
����
 ��� 
	

� � ����
���+

�
	
�

��� V 0
3 �

0��� ��V�����
��  �� V 0
3 �
�
� ���J+ �� �
 �H
�  ��
���
� �

 ���
	)���� ����
 �
�

U = V 1,2
3 + FṼ 2,1

3 +GṼ 2,2
3 . Q<�;.U
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�

Q<�%;U+ �	
 u & �
H
��� ��
��
���

g(u) = FGu6 + (F 2 − 3G2 + 2)u5 − . . .

− 5FGu4 − 2 (G2 + F 2 + 2)u3 − . . .

− 5FGu2 + (G2 − 3F 2 + 2)u+ FG = 0, Q<�;<U

v =
Fu(3 − u2) +G(3u2 − 1)√

2(1 − u2)
. Q<�;$U

4
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�
��	
�� i;%j�

#"%



��.� 7�,������� 	���
�� 
���� ��
�	����#	���

���	�
	��� ����

�
����I	
���
 ��� 
���
���������
������
 ���
��
 ����� #���

 ���	�
+ �� 
� �
��
 �����+  ��
 � ���
�������! ������! ��J	� ���
���+

����� ����
����+ ���
��� D������ 3
�I
 �����I�� ���
���
��
 ���
���

����� .���  ���	�
� , ���
���+ �����I�� ���������
��
 ����I	
����

���
��� ����� �  ���
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	�J=
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 ���	�
�

+!E!)! F�8���� �� D9���� ��� ���� *9D	 �	����� � ������	� ��

�
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�� �	���

6��
���
� �
����

 ��=
�� ��	
+ � ������� ���
�� .�� � <��  ���	��*

Ũ23 =
x2

2
+ a

y2

2
− (a+ 1)

z2

2
+

+K0V
0
3 +K1V

1,1
3 +K2V

1,2
3 +K3V

2,1
3 +K4V

2,2
3 +K5V

(1),1
3 +K6V

(1),2
3 , Q<�;?U

�	
 �
� V (1),j
3 + j = 1, 2+ �����
�
��  
�
��������
���
 Q� ���I��
�
� 1

6U

H
����
 ������� � m = 1*

V
(1),1
3 =

1

6
r3P

(1)
3 (cos θ) cosϕ =

1

4
r3 sin θ

(
5 cos2 θ − 1

)
cosϕ =

= xz2 − 1

4
x3 − 1

4
xy2, Q<�;/U

V
(1),2
3 =

1

6
r3P

(1)
3 (cos θ) sinϕ =

1

4
r3 sin θ

(
5 cos2 θ − 1

)
sinϕ =

= yz2 − 1

4
x2y − 1

4
y3. Q<�;>U

#";



F�� ��
��� �
����
 �
��������  ��� �
 ��� Oz*⎧⎪⎪⎪⎨
⎪⎪⎪⎩
Bx = K5z

2,

By = K6z
2,

Bz = −(a+ 1)z +K0z
2.

Q<�;%U

� �
��
��
+ ���	
 �
 ��� Oz  �� z = ε �
!�	���� ������ ���� �
��������

 ���+ ��V�����
��� K5 = K6 = 0+  
�
�
�� ε = a+1
K0

+ ��
�
��� ���
����!

��V�����
����  ����������� 6��
���
� ��=
�� ��	
 Q<�;?U+ � ����
J=��

	�
 ����+ �
� ���I
���! �
 ��� Oz+ ������
 ����
J���  �� ε→ 0+ ��I��

 �
	��
���� � ��	����
�)���� ����
*

U =
ε+ C

2
x2 +

aε− C

2
y2 − ε(a+ 1)

z2

2
+

+ (a+ 1)V 0
3 +K1V

1,1
3 +K2V

1,2
3 +K3V

2,1
3 +K4V

2,2
3 . Q<�;;U
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�
��
 ε � ���J � #��  ���	�
 ���
��
��� D����� �

���
���  �����  � ��� Oz � 
��� ���
�� �	��� ��
� Ox � Oy Q
��� C �= 0+

 �� V��� 	���
����� �
������
�� C = 1U

U |ε→0 = C
x2 − y2

2
+ . . . Q<�#""U

��� ���� .���  ���	�
 Q
��� C = 0U� ��I�� �
�I
 �
���
����
��  ���
�� �

� ���
���� �
 �
��
��� & �
� �
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 �� V��� ⎧⎨
⎩

Bx=εx+Cx−(a+1−K1)xz+K2yz+K3
x2−y2

2 +K4xy,

By=aεy−Cy−(a+1+K1)yz+K2xz−K3xy+K4
x2−y2

2 ,

Bz=−ε(a+1)z+a+1
2 (2z2−x2−y2)+K1

x2−y2
2 +K2xy.

Q<�#"#U

6���I��

z = z′ + ε Q<�#".U

� �
���I�� � #��  ���	�
  ��
 � ���
������� �
I	��� �� ���
�+ N1 �

����	��
�
�� (0, 0, 0) � N2 � ����	��
�
�� (0, 0, ε)*

1N1
�

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

(ε+ C)x,

(aε− C)y,

−ε(a+ 1)z,

1N2
�

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

[(K1 − a)ε+ C]x+K2εy,

− [(K1 + 1)ε+ C] y +K2εx,

ε(a+ 1)z′.

Q<�#"<U
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� � ����
������
���� �������
���� �
�
�
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 Q���

�
��� <�< � <�$U*

Usym =
a+ 1

2
ε2z +

(
C − ε

a− 1

2

)
V 1,1

2 −

− a+ 1

2
V 0

3 +K1V
1,1
3 +K2V

1,2
3 +K3V

2,1
3 +K4V

2,2
3 . Q<�#"$U

6��
* ⎧⎨
⎩

Bx=(C−εa−1
2 )x+(a+1

2 +K1)xz+K2yz+K3
x2−y2

2 +K4xy,

By=−(C−εa−1
2 )y+(a+1

2 −K1)yz+K2xz−K3xy+K4
x2−y2

2 ,

Bz=a+1
2 ε2+a+1

4 (x2+y2−2z2)+K1
x2−y2

2 +K2xy.

Q<�#"?U

6��
 � ���H
�  ���	�
 � ���
������� �
I	��� �� ���
�+ N1 � ����	��
�
��

(0, 0, −ε) � N2 � ����	��
�
�� (0, 0, ε)+ ��	
� ��
�� ��	

1N1
�

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
Cx− ε [(a+K1)x+K2y] ,

−Cy − ε [(1 −K1)y +K2x] ,

ε(a+ 1)z′,

1N2
�

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
Cx+ ε [(1 +K1)x+K2y] ,

−Cy + ε [(a−K1)y +K2x] ,

−ε(a+ 1)z′′,

Q<�#"/U
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�� z′ = z + ε+ z′′ = z − ε�
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 �
��
��� i##<j�
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��  �� Ki = 0+ �	
 i = 2 , 3 , 4 Q���J���
��� 	
�� �
 ���� <�#>U*


U a = −2+ K1 = 0+ ��
	��
��
 M�

�-�

�N*

1N1
� ε

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

2x,

−y,
−z′,

1N2
� ε

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
x,

−2y,

z′′.

Q<�#">U
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Ki = 0 Qi = 2, 3, 4U+ ε = 10 � ��
	�J=�! ��
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I
��� Q<�#"$U* 
U a = −2+ K1 = 0v �U a = 3+ K1 = 2v �U a = 1.7+

K1 = 0�

�U a = 3+ K1 = 2+ ��
	��
��
 MH� -�

�N*

1N1
� ε

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
−5x,

y,

4z′,

1N2
� ε

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

3x,

y,

−4z′′.

Q<�#"%U

�U a = 1.7+ K1 = 0+ ��
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 MH� -H� N*

1N1
� ε

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
−1.7x,

−y,
2.7z′,

1N2
� ε

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
x,

1.7y,

−2.7z′′.
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D������ 2��J	
 ��
	�
�+ ���  ��
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������ �������
���� ���
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�  �������� xOy� ����
���� �������
���� ���
I
��� �  �������� xOy
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�

�+ ��� 
���

z → −z, Q<�##"U

��

Bx → Bx, By → By, Bz → −Bz. Q<�###U

K��� �������� �	���
�����J�*

#� �� .��  ���	�
* ��
 �
�����
 ������� �� �
��� <�< Q�� �
 H
����


������� .���  ���	�
 � m = 1Uv

.� � <��  ���	�
* ������� V 2,1
3 � V 2,2

3 �� �
��� <�$ � H
����
 ������� �

m = 1v

<� � $��  ���	�
* ������� V 0
3 + V 1,1

3 + V 1,2
3 + V 3,1

3 + V 3,2
3 �� �
��� ��.

6����I
��� ��.�

� ��)��� ����
����  ��
���
� ��=
�� ��	
 � �
���
����

���

��������
��� �
 ����

��� � ����
*

Utrig = (C + ε)
x2

2
− (C − εq)

y2

2
− ε(q + 1)

z2

2
+

+K3V
2,1
3 +K4V

2,2
3 +K5V

(1),1
3 +K6V

(1),2
3 +

+H0V
0
4 +H1V

1,1
4 +H2V

1,2
4 +H5V

3,1
4 +H6V

3,2
4 , Q<�##.U
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�	
 ε+ C+ q+Ki Qi = 3−6U+Hj Qj = 0, 1, 2, 5, 6U & ��V�����
���� ���
I
���

	�� ��� ��
�� �
����
  ���*

Bx = (C + ε)x+K3
x2 − y2

2
+K4xy +K5

(
z2 − 3

4
x2 − 1

4
y2
)
− 1

2
K6xy+

+H0
x(x2 + y2) − 4xz2

8
+H1

3xz2 − x3

6
+H2

6yz2 − 3x2y − y3

12
+

+H5
x3 − 3xy2

6
+H6

3x2y − y3

6
, Q<�##<U

By = −(C − εq)y −K3xy +K4
x2 − y2

2
− 1

2
K5xy +K6

(
z2 − 1

4
x2 − 3

4
y2
)

+

+H0
y(x2 + y2) − 4yz2

8
+H1

y3 − 3yz2

6
+H2

6xz2 − 3xy2 − x3

12
+

+H5
y3 − 3x2y

6
+H6

x3 − 3xy2

6
, Q<�##$U

Bz = −ε(q + 1)z + 2K5xz + 2K6yz+

+H0
2z3 − 3z(x2 + y2)

6
+H1z

x2 − y2

2
+H2xyz. Q<�##?U
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� �������*⎧⎪⎪⎪⎨
⎪⎪⎪⎩
Bx � (C + ε)x+K5z

2 + z2

2 [H2y − (H0 −H1)x] ,

By � −(C − εq)y +K6z
2 + z2

2 [H2x− (H0 +H1)y] ,

Bz � −ε(q + 1)z + 2K5xz + 2K6yz +H0
z3

3 .

Q<�##/U
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 ����+ � ��)���  �����
	)����� �
�H�
�����
��� x2 + y2 � 1+

�� ��I�� �	
�
�� 
=) �	�� � ��=
��
 � �
 ��
�� ��� ��
��� �
����
  ���

� ��
	�J=
� ��	
*⎧⎪⎪⎪⎨
⎪⎪⎪⎩
Bx � (C + ε)x+K5z

2,

By � −(C − εq)y +K6z
2,

Bz � −ε(q + 1)z + 2K5xz + 2K6yz +H0
z3

3 ,

Q<�##>U
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 �� ������� 1 = 0 �
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x = −K5z
2

C + ε
, y =

K6z
2

C − εq
, Q<�##%U
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� ��
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 ��
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��
 �
 z*

z3
(
H0

3
− 2K2

5

C + ε
+

2K2
6

C − εq

)
= ε(q + 1)z. Q<�##;U

0�� �
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⎢⎢⎢⎣

z1 = 0,

z2,3 = ±
√√√√ε

q + 1

H0

3 − 2
(
K2

5

C+ε − K2
6

C−εq
) . Q<�#."U
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√
a2[(x−d)2+z2]5/4

[−K(k2)+Ψ2E(k2)],

J1k1yz

√
a1(x2+y2)5/4

[−K(k1)+Ψ1E(k1)]+
J2k2

√
a2[(x−d)2+z2]1/4

[K(k2)+ψ2E(k2)],

J1k1
√
a1(x2+y2)1/4

[K(k1)+ψ1E(k1)]+
J2k2yz

√
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Br(R0, θ, ϕ) =
∑
lm

P
(m)
l (cos θ)(glm cosmϕ+ hlm sinmϕ), Q7�#U

�	
 ��V�����
��� glm � hlm  �
	��
��
�� �
 ���
���


\aa[*���md�ma]_odcl�`ln�y]ced_bL�c]l�^\Zbma�\aeZ�

� ����

 I
 tZ]mmbL zb_`�do�Tb^\a p\dadm[\`cbL �dn_l]cs td_lbabd_ -
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Br(R0, θ, ϕ) =

=
∑
lm

P
(m)
l (cos θ)(glm cosmϕ+ hlm sinmϕ)
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(
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Rs

)2l+1
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l � E � � � � � G � H

� ]�����

E ]E����� ��H�E
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Pn+1(x) =
2n+ 1

n+ 1
xPn(x) − n

n+ 1
Pn−1(x). QO�#U
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I
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 i;?j*

P ′
n+1(x) = xP ′

n(x) + (n+ 1)Pn(x). QO�.U

�������� �)������*

Pn(−x) = (−1)nPn(x). QO�<U
�
��j
 �R��j
 ���
���j ^
�������

P0(x) = 1,

P2(x) =
1
2
(3x2 − 1),

P4(x) =
1
8
(35x4 − 30x2 + 3),

P6(x) =
1
16

(231x6 − 315x4 + 105x2 − 5),

P8(x) =
1

128
(6435x8 − 12012x6 + 6930x4 − 1260x2 + 35),

P10(x) =
1

256
(46189x10 − 109395x8 + 90090x6 − 30030x4 + 3465x2 − 63),

P12(x) =
1

1024
(676039x12 − 1939938x10 + 2078505x8 − 1021020x6 + 225225x4 − 18018x2 + 231),

P14(x) =
1

2048
(5014575x14 − 16900975x12 + 22309287x10−

− 14549535x8 + 4849845x6 − 765765x4 + 45045x2 − 429).

�
��j
 �
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P1(x) = x,

P3(x) =
1
2
(5x3 − 3x),

P5(x) =
1
8
(63x5 − 70x3 + 15x),

P7(x) =
1
16

(429x7 − 693x5 + 315x3 − 35x),

P9(x) =
1

128
(12155x9 − 25740x7 + 18018x5 − 4620x3 + 315x),

P11(x) =
1

256
(88179x11 − 230945x9 + 218790x7 − 90090x5 + 15015x3 − 693x),

P13(x) =
1

1024
(1300075x13 − 4056234x11 + 4849845x9 − 2771340x7 + 765765x5 − 90090x3 + 3003x).
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P (m)
n (x) = (1 − x2)

m
2
dm

dxm
Pn(x). QO�$U
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||P (m)
n (x)||[0,1] =

1

2n+ 1

(n+m)!

(n−m)!
. QO�?U

�������� �)������* P (m)
n (−x) = (−1)n−mP (m)

n (x)�

� ���� 	�� ���H�!  ���	���*

n = 0* P0 = 1

n = 1* P1 = cos θ

P
(1)
1 = sin θ

n = 2* P2 = 1
2(3 cos2 θ − 1)

P
(1)
2 = 3 sin θ cos θ

P
(2)
2 = 3 sin2 θ

n = 3* P3 = 1
2(5 cos3 θ − 3 cos θ)

P
(1)
3 = 3 sin θ

5 cos2 θ − 1

2

P
(2)
3 = 15 sin2 θ cos θ

P
(3)
3 = 15 sin3 θ

n = 4* P4 = 1
8(35 cos4 θ − 30 cos2 θ + 3)

P
(1)
4 = 5 sin θ

7 cos3 θ − 3 cos θ

2

P
(2)
4 = 15 sin2 θ

7 cos2 θ − 1

2

P
(3)
4 = 105 sin3 θ cos θ

P
(4)
4 = 105 sin4 θ
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n = 5* P5 = 1
8(63 cos5 θ − 70 cos3 θ + 15 cos θ)

P
(1)
5 = 15 sin θ

21 cos4 θ − 14 cos2 θ + 1

8

P
(2)
5 = 105 sin2 θ

3 cos3 θ − cos θ

2

P
(3)
5 = 105 sin3 θ

9 cos2 θ − 1

2

P
(4)
5 = 945 sin4 θ cos θ

P
(5)
5 = 945 sin5 θ
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3 z x
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1
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3
(
x2 + y2

)2 − 24
(
x2 + y2

)
z2 + 8z4

]
1
96

(
3ρ4 − 24ρ2z2 + 8z4

)
r4

12 P
(0)
4 (cos θ)

V 1,1
4

1
12
x2−y2

2

(
6z2 − x2 − y2

)
ρ2

4!

(
6z2 − r2

)
cos 2ϕ r4

180 P
(2)
4 (cos θ) cos 2ϕ
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4

1
12xy

(
6z2 − x2 − y2

)
ρ2

4!

(
6z2 − r2

)
sin 2ϕ r4

180 P
(2)
4 (cos θ) sin 2ϕ
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z
6

(
x3 − 3xy2

)
ρ3z
3! cos 3ϕ r4

630 P
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4 (cos θ) cos 3ϕ
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4

z
6

(
3x2y − y3

)
ρ3z
3! sin 3ϕ r4
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4 (cos θ) sin 3ϕ
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(
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)
ρ4

4! cos 4ϕ r4
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1
6

(
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)
ρ4

4! sin 4ϕ r4
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